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Question Paper Preview

Notations:
l.OptiOﬂS shomwl in greer color and with L 1001 Are Correct.

2 Options shown in red color and with % icon are incorrect.

Question Paper Name: Upper Division Clerks Shift 4

Subject Name: UPPEE. DIVISION CLERE IO
Creation Date: 2016-03-19 14:57:37
Duration: 120
Total Marks: 200
Display Marks: Yes
Upper Division Clerks Shift 1
Group Number : 1
Group Id: 73681527
Group Maximum Duration : 0
Group Minimum Duration : 120
Revisit allowed for view?: No
Revisit allowed for edit?: No
Break time: 0
Mandatory Break time: No
Group Marks: 200
Murnerical Ability
Section Id : 736815103
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815155
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7368155253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Convert 30 into a binary number.

Options:
1 ¢ 11110
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> % 101010
s % 100110
4 % 110011

Question Number : 1 Question Id : 7368155253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
30 & SEAY TEAT # aRgEd 1
Options:

. & 11110

. = 101010
- = 100110
. % 110011

Question Number : 2 Question Id : 7368155254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The number of prime factors in (15) < (4)"* x(6)" 1is :
Options:

; % 116

5 o 110

3 % 112
4 % 115

Question Number : 2 Question Id : 7368155254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
(15)% x(4)°x(6)° H AT UM HI FEIT g

Options:

. % 116
oot 110
s % 112
4% 115

Question Number : 3 Question Id : 7368155255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

What least value must be assigned to * so that the number 5048*35 is divisible by 97
Options:

1. %

Lh

[ B

o

o R

L]
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Question Number : 3 Question Id : 7368155255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

+ I FIT W #AdH AA GA A= =M@, ATfe TEAT 5048435, 9 ¥ ==
ar?

Options:

1_%5
> 2

3_%3

4 % 4

Question Number : 4 Question Id : 7368155256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 1203 x 999+1203.

Options:
1 ® 1023999

> % 1023000
= « 1203000
4 % 1203999

Question Number : 4 Question Id : 7368155256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

IOTAT FL 1203 < 999+1203
Options:

. % 1023999
. = 1023000
- v 1203000
. % 1203999

Question Number : 5 Question Id : 7368155257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the units digit in (245)* +(141)*"

Options:
1 ® 3

2%4
3_%9

4 ¢ 6
Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 5 Question Id : 7368155257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

(245)°% + (14D HF el & HF G|
Options:

1 % 3

> % 4

z % 9

4 B

Question Number : 6 Question Id : 7368155258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute: 213 x 625+625.

Options:
;. ® 152634

> % 134560
3 % 134750
4 « 133750

Question Number : 6 Question Id : 7368155258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
IOTAT FL: 213x625+625

Options:

| % 152634
. % 134560
5 = 134750
4 v 133750

Question Number : 7 Question Id : 7368155259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Kiran studies for E — hours daily. He devotes 3 — hours of his time for Science. How
much time does he devote for other subjects?  ~

Options:

31,1?1'.5:
5
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3 l hirs
4

Question Number : 7 Question Id : 7368155259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ﬁﬂ?%B%ﬁ?ﬁWﬂﬂ?ﬁ%lﬂ%‘mm¢3%ﬁ%ﬁﬁﬂ
Fr 2 &1 98 3= v FF aar gET T

Options:

i
3; W

1 ®
42 g

ke

9 .

31 @

z ®

QSEEE—

4.

Question Number : 8 Question Id : 7368155260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Ram and Tilak together bought a water bottle that contained 2 4 liters of
1 gy,
water. Ram consumed 1 of the water. Remaining water was consumed by

Tilak. Find the amount of water consumed by Tilak in liters?

Options:
1 ® 15L

> « 1.66L
3 % L6L
4 % 145L

Question Number : 8 Question Id : 7368155260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TR AR faas & T @1y 9= $r a9 @idr 5wa 2% deT 9= o
m#%%mm?ﬁﬁmlmmmﬁw#ﬁml e F e
ey 9T Torar?

Options:

, » 1.66 deT
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Question Number : 9 Question Id : 7368155261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

hour,

Arjun, Bala. Chandra and Dinesh finished coloring a picture in hour, % hour

L | L
iwd |

and = hour respectively. Who among the following finished their coloring last?

L | ka2

Options:
1 % Dinesh

> % Chandra
% « Bala

4 ® Arjun

Question Number : 9 Question Id : 7368155261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HSIS, AT, T AT e F FHA: % e, % oe, % ‘EI%‘&-ﬂT% o H
TR # T A & F4 F gAT w7 Feae@a # ¥ Faa afEw
H T oTAT AT [Rar?

Options:

> B EiaT
5 o CIGI

e

4 % T3

Question Number : 10 Question Id : 7368155262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which among the following is the largest?
o 7
2

4
Options:

b | L
Lad |~

Question Number : 10 Questio ‘ i i 7o mmlay Question Number : Yes
SHGICIRGEIONES il JOlile Ml  Latest Sarkari Jobs, Govt Exam Results,
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@ & 9 #i9 @ g&ar veg a3 g7

Options:
E
1. 8

[

e
%
b | D | =

Question Number : 11 Question Id : 7368155263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The difference of two numbers is 18 and one-fourth of their sum is 21. Find the largest
number,

Options:

1 & 51
o W 45
T W 28

T 15

Question Number : 11 Question Id : 7368155263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ar 37eRT &7 AT 18 & 3T 3 T F7 veh-atue fgear 21 g1 g9 95 §&
& 9T FET

Options:

1 5

o B 45

T B 28

4 R 15

Question Number : 12 Question Id : 7368155264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The difference between a number and its two-third is 40. What is the number?
Options:
|« 120

> % 165

=3 ® 619 Latest Sarkari Jobs, Govt Exam Results, m
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4 % 390

Question Number : 12 Question Id : 7368155264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T HET 3R 3G+ 2/3 & 919 #T 3a7 40 §1 §EAT #1487
Options:

L~ 120
, % 165
5 % 619
4 % 390

Question Number : 13 Question Id : 7368155265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the value of (=2)° = (2)° x(2Y
Options:
1 #® 5

_h

L]
-2

2.
T =27
4 % -108

Question Number : 13 Question Id : 7368155265 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
(=2 x(2)° x(2)° & AT FT IaT T

Options:

; ® 55
o v 32
2 % -27
4 % -108

Question Number : 14 Question Id : 7368155266 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If 94X3 — 5Y28 = 4115, then which of the following should come in place of X?

Options:
1 10

2.%5
3_%3

4.%5

Note: For thisquestion, discrepg i i i kgichai andidates.
Latest Sarkari Jobs, Govt Exam Results,
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Question Number : 14 Question Id : 7368155266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3T 94X3 - 5Y28 = 4115 8, af ™ § ¥ X F TUF W FT {1 =MT?
Options:
1 « 10
> % B
z % 3

4 % 5

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 15 Question Id : 7368155267 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
3 5 +(513-305°
Solve : (313+305) +(513-305)
513x513+305x305

Options:
1. %

> R

3 ®

| S S R U

4 &

Question Number : 15 Question Id : 7368155267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

. (513+305)" +(513-305)
FL
e 513%513+305%305

Options:

1 ® g
o W 4
T W 3

4 & 2

Question Number : 16 Question Id : 7368155268 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The present salary of Tarun is Rs.6500. This will be increased by 6% in the next year.
What will be the increased salary of Tarun?

Options:
1 ® Rs.7250

> #% Rs.7100
= o Rs.6890
4 #% Rs.7200

Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 16 Question Id : 7368155268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

XU T TIAH I T. 6500 2| 3T IY 3TF T4 H 6% Fr IiF FM
g & arg Jeor T F&T g Ia= e gem?

Options:

. % % 7250
. % . 7100
2 v T. 6890
4 % T. 7200

Question Number : 17 Question Id : 7368155269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In an examination, 97% of the candidates passed and 300 failed. How many candidates
appeared for the examination?

Options:
; ®% 13500

> % 14000
= « 10000
4 % 12500

Question Number : 17 Question Id : 7368155269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TR e H, 97% TlETe 3T HR 300 Heedor Ul e F fhaa
afremeft 39T o7

Options:

. % 13500
. = 14000
- « 10000
., % 12500

Question Number : 18 Question Id : 7368155270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

3 , .
‘What percent of Ei days is 120 minutes?

Options:

1 « 3.03%

> % 5.5%

= % 0.55%

4 % 2 504 Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 18 Question Id : 7368155270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

120 fa=e, % et &1 fraar ufderg aar 22
Options:

v 3.03%

- % 5.5%

- % 0.55%

. % 2.5%

Question Number : 19 Question Id : 7368155271 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Express 60 paise :3 rupees in its simplest form.
Options:

1 ® 1:8

o> o 15

= ® 4:5

4 % 54

Question Number : 19 Question Id : 7368155271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
60 9 : 3 TUY H THF TWITAH T H 22010

Options:

1 % 1:8
> o 15
=z % 4:5
4 % D4

Question Number : 20 Question Id : 7368155272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Two numbers are in ratio 11:9. If 5 is subtracted from each. the ratio becomes 5:4. Find the
smallest number.

Options:

1 ® 26

> % 30
T W 24

4.« 45

Question Number : 20 QuestiorjiECIERET [ LN LIEN AU SET L EET X m lay Question Number : Yes
STVISIRGIYOVESIoRelJi[ )M  Vacancies and updates on one click




Correct : 1 Wrong: 0.25
ar 3@ 11:9 &% 39 A g I Teds § 5 °err SA1ar ¢, ar A 5:4 &

AT g1 HIH BT §E&AT T 94T 90|
Options:

1 & 26
- % 30
= # 24
4 « 45

Question Number : 21 Question Id : 7368155273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A bag contains 50 paise. 25 paise and 10 paise coins in the ratio 6:5:3 amounting to
Rs.273/-. Find the total number of coins in the bag.

Options:
1 % 163

> % 175
s % 150
4 « 840

Question Number : 21 Question Id : 7368155273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v I 7 50 49, 25 UF 3N 10 AW F fwk 6:5:3 F qud A F e
FoT HJAS T. 273/- g ¥ F T et Fr gewr rae ¢ |

Options:

;% 163

> % 175

s % 150

4 v 840

Question Number : 22 Question Id : 7368155274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the average of 120.524.326,241.414.

Options:
1 @ 32
2

> R

|
h h

P—=

z R 20
4% 244
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Question Number : 22 Question Id : 7368155274 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

120, 524, 326, 241, 414 =7 3OT 71T &L
Options:

, v 325
., % 225
2 % 120
. % 244

Question Number : 23 Question Id : 7368155275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average of 7 quantities is 9. The average of five of them is 9. What is the average of
remaining quantities?

Options:
1 % 19
> % 15
5 ¢ 9
4 ® 30

Question Number : 23 Question Id : 7368155275 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

7 SEGHT F AW A 9 T 3FA @ 9= F Atag A 9 gAY A OH
staT o &7

Options:

1 ® 19
o B 15

3¢ 9
4 R 30‘

Question Number : 24 Question Id : 7368155276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The average monthly income of P and Q is Rs.13000. The average monthly income of Q
and R is Rs.10000 and the average monthly income of P and R is Rs.12000. The monthly
income of P is?

Options:

, « Rs.4500

> % Rs.3500
- % Rs.5500

4 ® Rs.7500 Latest Sarkari Jobs, Govt Exam Results, m
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Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 24 Question Id : 7368155276 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

P 3k Q #r 3w -1f8@= 317 .13000 &1 Q 3k R #r sttag =afas o
%.10000 3ix P 3t R #r 3w &1fa= 3o 5.12000 & P &r #71f@s 3mo
e 22

Options:

, v . 4500
., % %. 3500
- % %. 5500
. % % 7500

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 25 Question Id : 7368155277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the amount at simple interest on Rs.3550 for 3 years 6 months at 5% per annum.

Options:
1 % Rs.3500.25

> « Rs.4171.25
- % Rs.3800.25
4 % Rs.3900.25

Question Number : 25 Question Id : 7368155277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

3 @I 6 AgT & T 9fy 99 5% $Fr 2T ¥ T. 3550 9T FUNOT =T o T &
TR I F:Y

Options:

| % %. 3500.25
. v ¥ 4171.25
. = %. 3800.25
. % % 3900.25

Question Number : 26 Question Id : 7368155278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Simple interest on a certain sum is i;? of the sum. Find the time, if both time and rate
percent are numerically equal. =

Options:

% 1= years Latest Sarkari Jobs, Govt Exam Results, m
. Vacancies and updates on one click
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[ )




5 of 12vyears
5 % Syears

2

Years
4 ® o

b | =

Question Number : 26 Question Id : 7368155278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T AR iR |remer s W #+ 5';_6 g1 afE gaT it 9f@era @7 "=
¥ FJUN Uk WAA g, ot AT F TaT ST

Options:

11 %
2

1M
5w 1238
- % 59y
2%3&

4 %

Question Number : 27 Question Id : 7368155279 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Simple interest for a sum of Rs.4500 for 2 years is Rs.50 more than the simple interest for
Rs.4000 for the same duration. Find the rate of interest.
Options:
1 ® 2%

> o 5%
5 % 4%
4 % 3%

Question Number : 27 Question Id : 7368155279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

2 a¥ & foT ¥ 4500 Fr ufer 9T @ramer sarer 3w 36 33fS & f@w 3. 4000
#ﬁ'@mﬂmﬁqﬁmﬁ'ﬁrﬁ?ﬁﬁﬂﬁﬂﬁlﬂ?ﬁlmiﬁrﬂﬁrw
AT

Options:

1_3?% 2%

o« 9%

=z R 4%

g 3%

Question Number : 28 Questiorf I &Te i [TN T BRI C T L ERTTLES m lay Question Number : Yes
STl [CYRGEIelES ool N Vacancies and updates on one click




Correct : 1 Wrong: 0.25
A Book costing Rs.1550 has been sold for Rs.1922. The percentage of profit was?

Options:
1 % 21%

5 % 25%
5 o 24%
4 % 20%

Question Number : 28 Question Id : 7368155280 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

%.1550 @ AT el farare & ©.1922 # o= faam s/ 3m| For oy F Wi
ELGINT

Options:

L% 21%
» % 25%
3« 24%
4 % 20%

Question Number : 29 Question Id : 7368155281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Srija sells an item for Rs.2800. She loses 65% in the bargain. What was the price at which
she bought it?

Options:
; % Rs.12000

> o Rs.8000
z # Rs.11000
4 % Rs.20500.25

Question Number : 29 Question Id : 7368155281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
T T FF] T.2800 H I9H &1 3H T WA H 65% F ThAE g3
304 9 I Fa FAT # Tidr o

Options:

, % %.12000
. » ¥.8000

. = %.11000

. % %.20500.25

Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 30 Question Id : 7368155282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rachana bought an article for Rs.3736. Due to some defects in it. she had to pay Rs.264 to
the mechanic for its repair. Then, she sold it for Rs.3600. Find her loss percent.

Options:
1« 10%

> % 12.46%
5 % 15%
4 % 12.5%

Question Number : 30 Question Id : 7368155282 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT F $.3736 H UF IFq TGN 3HH FHE Q9 & FROT, 3HA FHR
ATEAT & fov #5553 1 $.264 feu) 5T 3@ 3@ .3600 = s feam
ﬁmﬁamwgm?

Options:

;v 10%

o % 12.46%
2 % 15%

L # 12.5%

Question Number : 31 Question Id : 7368155283 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An item is sold at Rs.425 by allowing a discount of 15% on its marked price. The marked
price of the item is?

Options:
. % Rs.700

> « Rs.500
= % Rs.600
4 % Rs.650

Question Number : 31 Question Id : 7368155283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

U TEG F 3! b FHET § 15% T TT qFT T.425 F a9 AT g1 TEH]
W 3fera FrAa e 4

Options:

. % ¥ 700
., v % 500

Latest Sarkari Jobs, Govt Exam Results, m
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- % . 600
. % . 650

Question Number : 32 Question Id : 7368155284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
What is a single discount equivalent to a discount series of 10% and 12%?

Options:
1 ® 24.5%

5 « 20.8%
3 % 25%
4 % 26%

Question Number : 32 Question Id : 7368155284 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

10% 3T 12% # TT s@eT & TAAH T Traar &2

Options:

% 245%
. @ 20.8%
2 % 25%
L % 26%

Question Number : 33 Question Id : 7368155285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The marked price of a bicycle is Rs.4600. A shopkeeper allows a discount of 15% and get
a profit of 15%. Find the cost price of the bicycle.

Options:
i % Rs.3850

> % Rs.1900
= « Rs.3400
4 % Rs.3950

Question Number : 33 Question Id : 7368155285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v HEfee F aER # AT T.4600 FI UF gFEEER 15% F gT H HA
& & 3R 38 15% &7 o e g1 s 7 $oT AR #1 9dT Sen|

Options:

| % . 3850
. % % 1900
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. v T. 3400
. % . 3950

Question Number : 34 Question Id : 7368155286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Study the following table carefully and answer the question that follows.

RURAL AND URBAN POPULATION

CENSUS YEAR PERCENTAGE OF TOTAL POPULATION
RURAL URBAN
1951 82.70 17.30
1961 32.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 25.70
2001 72.20 27.80
2011 68.85 31.15

In which year the urban population was approximately one-fourth of the total population?

Options:
; ®% 2001

> % 1981
s % 1951
4 « 1991

Question Number : 34 Question Id : 7368155286 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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atafaa arfeeT &1 oo ¥ 3regga F1 3IR e g9 F J99 &)
IAET HT oEd FAEEaT

AT FY FoT FATHEAT T Fieerd

ITHoT AR
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 25.70
2001 72.20 27.80
2011 68.85 3115

e a9 7 ol HEIET For EEr F AT 1/4 A2

Options:

% 2001
. % 1981
- = 1951
L v 1991

Question Number : 35 Question Id : 7368155287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR PERCENTAGE OF TOTAL POPULATION
RURAL URBAN
1951 82.70 17.30
1961 32.00 18.00
1971 30.10 19.90
1981 76.70 23.30
15951 74.30 25.70
2001 72.20 27.80
2011 68.85 31.15

In which vear the rural population was approximately four-fifth of the total population?

Options:
. % 1961

> % 1951

= o 1971 )
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4 % 1981

Question Number : 35 Question Id : 7368155287 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

i@ arfereT &1 coa ¥ 3egaa #7 3k Al gaer & J9 &)
AT AT oY FIEETT

FAUTAT T ol SAAHEAT HT FlAerd

TTATOT AT
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 2330
1991 74.30 2570
2001 72.20 27.80
2011 68.85 31.15

ﬁmaﬁﬁaﬁmmﬁgﬁrmmmMSm?

Options:

. % 1961
. % 1951
2« 1971
. % 1981

Question Number : 36 Question Id : 7368155288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR PERCENTAGE OF TOTAL POPULATION
RURAL URBAN

1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.50
1501 74.30 2T

2001 72.20 27.80
2011 68.85 31.15

In which year the urbar

Options:



; %= 1981
> % 1951
5 « 1961
4 % 2001

Question Number : 36 Question Id : 7368155288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

afafaa afeer & oo ¥ 3regaa #1 3 FaefEa gaer F 399 S
ITAET HT oEy FAEEAT

ST T Fol FAHEAT FT T
TTATOT oTEdT
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 25.70
2001 72.20 27.80tu de
2011 68.85 3115

o ag F gy f ITETEr FoT ITETEr 1 18% off?

Options:

| % 1981
. % 1951
2 v 1961
, % 2001

Question Number : 37 Question Id : 7368155289 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR PERCENTAGE OF TOTAL POPULATION
RURAL URBAN

1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 257

2001 72.20 27.80
2011 68.85 31.15

In which year the rural population was 72.2% of the total population?

Options:
1« 2001

> % 2011
3 % 1991
4 % 1981

Question Number : 37 Question Id : 7368155289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fafafag afe=r & oo ¥ 3regaa #1 3 FaefEa gaer F 399 S
ITAET HT oEd FAEEAT

HAIOTAT Y Fol SAAUEAT FH Fed

ITHToT oM
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 2570
2001 72.20 27.80
2011 68.85 3115

ﬁFﬂ'aﬁ'i%anﬁﬁﬂ'snaﬁﬂ'gﬁw.ﬂﬁaﬁh'aw 72.2% 9?2

Options:

| v 2001
5 % 2011

2 % 1991
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. % 1981

Question Number : 38 Question Id : 7368155290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Study the following table carefully and answer the question that follows.
RURAL AND URBAN POPULATION

CENSUS YEAR PERCENTAGE OF TOTAL POPULATION
RURAL URBAN
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 2330
1991 74.30 25.70
2001 72.20 27.80
2011 68.85 31.15

In which vear the rural population was high?

Options:
1 ® 1991

> % 2011
3 % 2001
4 « 1951

Question Number : 38 Question Id : 7368155290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fafafag afesr & oo ¥ 3regaa #1 3 FafefEa ga=r F 399 S
IAET HT oEd FAEEAT

HAAINOTAT Y Fol SAHEAT 1 Fird

ITHOT ey
1951 82.70 17.30
1961 82.00 18.00
1971 80.10 19.90
1981 76.70 23.30
1991 74.30 25.70
2001 1220 27.80
2011 68.85 3115

T a¥ F T JEEr e oM

Options:
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> » 2011
- = 2001
L v 1951

Question Number : 39 Question Id : 7368155291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of a square field is = hectare. Find the length of its diagonal in metres.

2 | Ln

Options:
1 ® 50mts

5> SG‘Emts

= % 40mts

4 « 100 J5 mts

Question Number : 39 Question Id : 7368155291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TF F97 &F FT 8TF4 % gFETT 2| SHF 90T T FEE FT AT F I4T
T
Options:
50+/2 Hrex
2

. 10058

Question Number : 40 Question Id : 7368155292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The area of an equilateral triangle is 12y3cm* . Find the length of its side.
Options:

1 % dom

5 of —1\@(.:?.'

z #% 445cm

4 % 425cm

Question Number : 40 Question Id : 7368155292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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T
Options:

w4 T

2 v 4V3 wE
5 » 4.45 TA
4 % 4.25 TA

Question Number : 41 Question Id : 7368155293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The diameter of the wheel of a bus is 14cm. How many revolutions will it make to travel
2.2km?

Options:

1 % 4000

> % 6000
2 ® 06500
4 « 5000

Question Number : 41 Question Id : 7368155293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

UF g7 & 9fgd &1 a7 14 T 21 orae 9 & a8 2.2 FadeT & amEr
q¥r FE?
Options:

1 % 4000
~ % 6000
= = 6500
4 « 95000

Question Number : 42 Question Id : 7368155294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A car travels 755km in 12hours and another 445km in 8hours. Find the average speed of
the car.

Options:

1 % 52km/h

> % 50 km/h
= « 60km/h
4 % 48km/h
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Question Number : 42 Question Id : 7368155294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T & 12 g F 755 ARt 3 8 ue # 3177 445 Grarder & o=
FaT g1 FX #r 3iEa o e &7

Options:

, = 52 e
- » 50 T
- v 60 fFraee
4w 48 TFdvEe

Question Number : 43 Question Id : 7368155295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A vehicle travels at 60km/h. How many meters will it travel in 20minutes?

Options:
1 ® 10500 mts

> o 20000 mts
= % 25000 mts
4 % 20500 mts

Question Number : 43 Question Id : 7368155295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T I 60 e i afF & I F1ar 1 IF 20 e ®¥ aw HJe &
I T FEM?

Options:

. % 10500 #Hex
, « 20000 #HeT
. % 25000 #Hrex
, % 20500 #Hrex

Question Number : 44 Question Id : 7368155296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Sachin can cover a certain distance in 2hr 30min by covering two-third of the distance at
4kmph and the rest at Skmph. Find the total distance.

Options:
1 % 9.7km

> % 10.4km

=z % 9.5km _
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4 « 10.7km

Question Number : 44 Question Id : 7368155296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Tfe v TR gt 2 o2 30 BT # 9@ W T & S @ e 4
frefeer @ oifa & 3R 9w 5 BFefeer gawr F7 #T FaaT & FF g8 F aar
ST |

Options:

, = 9.7 GrarERET
o » 10.4 TFarHARY
5 % 9.5 fEeraET
4 v 10.7 franseT

Question Number : 45 Question Id : 7368155297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Priyanka takes 36 minutes to reach school from home. Monika takes 45minutes to cover
the same distance. Find the ratio of time taken by Privanka to the time taken by Monika.

Options:
1 ® 3:2

> % 4:3
= o 415
4 ® 1:3

Question Number : 45 Question Id : 7368155297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

B W ¥ = 9% qéqﬁ & forw 36 fBwe = 81 Aifaer saer & gt &t
T = F T 45 e o &1 Baer @nr ik s ganr B v w5y

T AT Il ST

Options:

1 % 32
> u 4:3
z o 4:5
a® 3

Question Number : 46 Question Id : 7368155298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sonia works in office fg

=RV e Ne ) MMt Us bl Latest Sarkari Jobs, Govt Exam Results,
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her office. Find




Options:
1 #® 15:16

- % 14:13
= o 16:15
4 % 16:17

Question Number : 46 Question Id : 7368155298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Tifaar FEeT 7 5 O 20 Ade 3 ST e Faew § 5 9 F1F F4r
gl 3% FH F °¢ F U F IaT M0

Options:

% 15:16
o w 14:13
2 v 16:15
L = 16:17

Question Number : 47 Question Id : 7368155299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The ratio of times taken by A and B to finish a piece of work is 1:4. If A completes the
work i 12days. then find the time taken by B to complete the work.

Options:
, % 15days
- o A8days

5 % 45days

4 % 18days

Question Number : 47 Question Id : 7368155299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A 3R B ZaRT U& HH H TeA HA F 0T, T TC 7T #1399 10 4 gl
e A 38 F1F & 12 G & U Far &, aF B 38 &7 F W A & o

- oy
[ehdaT HHT 377
Options:

, % 15 fe&=T
.« 48 f&
5« 45 fe&
4. % 18 fe=
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Question Number : 48 Question Id : 7368155300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Sonal can do a work in 4days and Aliva is 20% more expert than Sonal to complete the
same work, then find the total time taken to complete the work by Aliva.

Options:

1
3—days
1, % 3

4l davs
2 ® 2

1
4—days
- ® 4 &
4 % 6 davs

Question Number : 48 Question Id : 7368155300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

TS 4 o & v & ST wEAr g, AR nfear 3@ w1 S dide oo
H 20% 30 =0T Il & & Thdl € af AT ZaRT FH F QW F F

el HAT 1 Il T |

Options:
W 2 3% L
. 4 R
5™ 4% fows

4 B Bﬁ\ﬂ-

oy

Question Number : 49 Question Id : 7368155301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

If A can do a piece of work in 4 days. B can do the same in 6 days and C can do the same
work i 2 days, then working together, how many days will they take to complete the
work?

Options:

lidﬂs
1o 11 -

Question Number : 49 Question Id : 7368155301 Question T : : isplay Question Number : Yes
Single Line Question Option : N

Correct : 1 Wrong: 0.25 Latest Sarkari Jobs, Govt Exam Results,
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Options:
1
1. 1“ R
o W 9 ﬁ?'r
1
o 25 o=

Question Number : 50 Question Id : 7368155302 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
30 men can complete a work in 21days. 7days after they started working, 15 more men
joined them. How many days will they now take to complete the remaining work?
Options:

2
6—davs
1. W g T

6ldqu
2% 5

2
7—days
z ® 3

1
O—days
4+ 3

Question Number : 50 Question Id : 7368155302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
30 T3 21 &t # U F1H FF T T Wohd gl FH Y& A & 7 & a1,
15 3 7w 39A afae g 717 3 Aw Faa G 7 3 3 F: 9@ w6 2

Options:
62 fam
y
o % Bg ICGH
7% =
® 3
9. =t

4.« 3

1%

o
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Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 32

Number of Questions to be attempted: 32

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815156
Question Shuffling Allowed : No

Question Id : 7368155303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Juestion Label - Comprehension

Read the following account and answer the questions given under it by choosing the
correct option for each question:

What has emerged in recent times as crucially important to controlling public opinion and
communication is “framing” the debate—using language effectively to define the issues.
People can be easily swayed by political catchphrases that are intentionally crafted to
convince and direct us into making certain choices. It doesn’t have to be complicated:; in
fact. the simpler the words. the more effective they often are.

George Lakoff. an eminent linguist. explains how each word in these seemingly innocuous
phrases — tax relief: death tax — frames exactly how we’re supposed to think. even as we’re
unaware of it. Taking up “tax relief”. Lakoff says that newspapers treated them as if it
were a neutral term. which it is not. Because the frame for “relief” assumes there has to be
an affliction — causing pain or sorrow -- and an afflicted individual(s). The relief-provider
is the hero. and anybody opposing or stopping relief is the bad guy. The second rule or
principle people accept as true is that taxation is affliction,

Along with the assumption ‘taxes are bad’. we would also assume that “‘death tax” is
immoral and ominous. An understanding of this helped the Republican machine to nose-
lead Americans to opposing death tax. Simply by changing the name. it changed the frame
of perception. When “estate tax”™ on the rich who could easily afford it was re-christened
‘death-tax’ and then it was proposed that it be abolished. a significant majority supported
it. The supporters may not have or know what an estate is. but they certainly knew what it
meant to be taxed when they died: they declared “taxing at death is immoral”.

Sub questions

Question Number : 51 Question Id : 7368155304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The most suitable title for this article is
Options:

1% Don’t Pay Taxes

5  Language Control i
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5 % You have been framed — Wake up!

4 % No Tax Relief Even When You Are Dead

Question Number : 52 Question Id : 7368155305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The most significant idea in this article is that

Options:

, « Politicians use languages to frame our thoughts and feelings

> % Inmatter of taxation our assumptions are always right
5 % As vindicated in the case of ‘death-tax’. words can be chosen to control our reactions

4 % Allof us want tax-relief but none of us is willing to pay death-tax

Question Number : 53 Question Id : 7368155306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The curious case of estate-tax becoming death-tax illustrates

Options:

, » How well politicians understand our assumptions regarding words ‘frame’ our thoughts

How well politicians understand the frames language contains, and how these frames lead
o « Us to or prevent us from certain actions associated with them

How by changing a name. people’s assumptions can be acted upon and how they may be
5 % made to comply with decisions

How the support of the poor in politics and government enables the rich to garner benefits
4 % from the rulers.

Question Number : 54 Question Id : 7368155307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Lakoff
Options:
Shows that all words have agents. recipients and beneficiaries, and values attached to
1 % them.

Shows that only words like tax. relief and death have *frames’. which activate default
> % values.

Holds that words are more than meanings and that they as ‘regulators’ of the implicit
5  World-view. ‘imply” actions and values — that is. they are frames.

Holds that words may sound innocent but they carry associated values and that is why
, % language controls as well as communicates meaning.

Question Number : 55 Question Id : 7368155308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The frame for the word ‘lend” will assume a lender, a borrower and
Options:

, = Aneed and an obj
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An object or cash changing hands: the word will evoke unequal relationships between the
o  parties

An object. a need, a time frame for lending and repayment and changes in relationship

- % Dbetween the parties

4 % Anobject. arecord. and legal tangles will be the evoked thoughts

Question Number : 56 Question Id : 7368155309 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The synonym for the word ‘ominous’ as used here is
Options:

|« Worrying

> % Menacing
- » Gloomy
4 % Unpromising

Question Number : 57 Question Id : 7368155310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Identify the antonym of ‘innocuous’, keeping in mind the meaning it has here:
Options:

1 % Offensive

- % Mischievous

5 % Dangerous

4 « Motivated

Question Number : 58 Question Id : 7368155311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Political catchphrases can sway us as:
Options:

, % they are carefully spoken

- % they are carefully constructed

o % they are clearly constructed

4  they are cleverly constructed

Question Number : 59 Question Id : 7368155312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

‘Tax relief” is not a neutral term as:

Options:

, = aneutral term will have no identifiable frame to regulate our reactions

-  aneutral term will operate with no assumptions and expectations

5 % aneutral term wil
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, % aneutral term will have no history or context behind it

Question Number : 60 Question Id : 7368155313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the phrase. ‘using language effectively to define the issues’. defining means:

Options:
, % ecxplaining the meaning of a word, phrase. etc.

- % showing or describing (someone or something) clearly and completely
- % showing the shape. outline. or edge of (something) very clearly

4 + marking the boundaries of the related concept/object/action

Question Id : 7368155303 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (51 to 60)
Juestion Label | Comprehension
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Read the following account and answer the questions given under it

by choosing the correct option for each question:

What has emerged in recent times as crucially important to
controlling public opinion and communication is “framing” the debate—
using language effectively to define the issues. People can be easily
swayed by political catchphrases that are intentionally crafted to
convince and direct us into making certain choices. It doesn’'t have

to be complicated; in fact, the simpler the words, the more effective

they often are.

George Lakoff, an eminent linguist, explains how each word in these
seemingly innocuous phrases - tax relief, death tax - frames exactly
how we're supposed to think, even as we're unaware of it. Taking
up “tax relief’, Lakoff says that newspapers treated them as if it
were a neutral term, which it is not. Because the frame for “relief”
assumes there has to be an affliction - causing pain or sorrow --
and an afflicted individual(s). The relief-provider is the hero, and
anybody opposing or stopping relief is the bad guy. The second

rule or principle people accept as true is that taxation is affliction,

Along with the assumption ‘taxes are bad’, we would also assume
that “death tax” is immoral and ominous. An understanding of this
helped the Republican machine to nose-lead Americans to opposing
death tax. Simply by changing the name, it changed the frame of
perception. When “estate tax” on the rich who could easily afford it
was re-christened ‘death-tax’ and then it was proposed that it be
abolished, a significant majority supported it. The supporters may
not have or know what an estate is, but they certainly knew what it
meant to be taxed when they died; they declared “taxing at death is

immoral”.

Sub questions
Question Number : 51 Questiornl eI ER ETe 1 [fN T R/ E 3Ty I ERTEH m lay Question Number : Yes
STl CINGEION=S Tl iNeldile N Vacancies and updates on one click




Correct : 1 Wrong: 0.25

The most suitable title for this article is
Options:

, = Don't Pay Taxes

-  Language Controls How We React

- » You have been framed - Wake up!

4 # No Tax Relief Even When You Are Dead

Question Number : 52 Question Id : 7368155305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The most significant idea in this article is that

Options:
,  Politicians use languages to frame our thoughts and feelings

> » In matter of taxation our assumptions are always right

As vindicated in the case of ‘death-tax’, words can be chosen to control
= % our reactions
4 » All of us want tax-relief but none of us is willing to pay death-tax
Question Number : 53 Question Id : 7368155306 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

The curious case of estate-tax becoming death-tax illustrates
Options:
How well politicians understand our assumptions regarding words ‘frame’

, = our thoughts

How well politicians understand the frames language contains, and how

these frames lead us to or prevent us from certain actions associated with
> « them

How by changing a name, people’'s assumptions can be acted upon and

- % how they may be made to comply with decisions

How the support of the poor in politics and government enables the rich
4 » to garner benefits from the rulers.

Question Number : 54 Question Id : 7368155307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Lakoff

Options:
Shows that all words have agents, recipients and beneficiaries, and values

1 % attached to them.
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Shows that only words like tax, relief and death have ‘frames’, which
> % activate default values.
Holds that words are more than meanings and that they as ‘regulators’ of
the implicit world-view, ‘imply’ actions and values - that is, they are
= « frames.
Holds that words may sound innocent but they carry associated values

, » and that is why language controls as well as communicates meaning.

Question Number : 55 Question Id : 7368155308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The frame for the word ‘lend’” will assume a lender, a borrower and

Options:
, » A need and an object, evoking sympathy or a suitable feeling

An object or cash changing hands; the word will evoke unequal

.  relationships between the parties

An object, a need, a time frame for lending and repayment and changes
5 » In relationship between the parties

4 » An object, a record, and legal tangles will be the evoked thoughts

Question Number : 56 Question Id : 7368155309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The synonym for the word ‘ominous’ as used here is

Options:

, « Worrying

- » Menacing

- » Gloomy

4 » Unpromising
Question Number : 57 Question Id : 7368155310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Identify the antonym of ‘innocuous’, keeping in mind the meaning it has

here:
Options:
; = Offensive

- # Mischievous

- » Dangerous

4 + Motivated

OIS NUIERRCROIISIN | atest Sarkari Jobs, Govt Exam Resullts, m lay Question Number : Yes
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Correct : 1 Wrong: 0.25
Political catchphrases can sway us as

Options:
, = they are carefully spoken

. » they are carefully constructed
- » they are clearly constructed

,  they are cleverly constructed

Question Number : 59 Question Id : 7368155312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Tax relief' is not a neutral term as
Options:

, = @& neutral term will have no identifiable frame to regulate our reactions

.  a neutral term will operate with no assumptions and expectations
- » a neutral term will be transparent about what is done and why

, » a neutral term will have no history or context behind it
Question Number : 60 Question Id : 7368155313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

In the phrase, ‘using language effectively to define the issues’, defining

means
Options:
, = explaining the meaning of a word, phrase, etc.

. » Showing or describing (someone or something) clearly and completely
- » Showing the shape, outline, or edge of (something) very clearly

4 w Mmarking the boundaries of the related concept/object/action

Sub-Section Number: 2
Sub-Section Id: 736815157
Question Shuffling Allowed : No

Question Id : 7368155314 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61to 70)
Cuestion Label © Comprehension
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Given below is a passage with ten blanks, numbered from 11 to 20. Fill
in the blanks by choosing the correct option given against the
corresponding Question number;

The spoken word is intimate, tied to the very breath and health of the
speaker. The written word makes possible the autonomous survival of

knowledge — with an oral (11). the word disappears when the

oralists have all been (12): but, as people have noted for a

long (13). writing is impersonal. does not carry emotional
(14) as well as speech. and lacks the (15)

characteristics — pitch. tone. timbre. rate, etc. — that links speech to a
(16). Certainly. writing displays styles - some people insist

they can (17) any particular writer's writing - but it is also
not as (18) as speech. Even on the phone. we immediately
know the (19) of our loved ones. They are distinctive and

(20). Most civilizations recognized that writing had been
introduced as a divine gift and clearly associated the origins of writing
with the birth of their own civilizations.

Sub questions

Question Number : 61 Question Id : 7368155315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % word

> % culture

- % approach

4 « tradition

Question Number : 62 Question Id : 7368155316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 « killed

- % counted

- % Invigorated

4 % rewarded

Question Number : 63 Question Id : 7368155317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question
number;

Options:
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, % period
> % duration
= % stretch

4 « time

Question Number : 64 Question Id : 7368155318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % insinuations

- % implications
5 % instructions

4 + intonations

Question Number : 65 Question Id : 7368155319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

, % identifying

o o defining

= % definite
4 % inftricate

Question Number : 66 Question Id : 7368155320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % Writer

- % scribe

3 % reorder

4  Speaker

Question Number : 67 Question Id : 7368155321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 » feel

2 # frace Latest Sarkari Jobs, Govt Exam Results,
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= % hear
4  lecognize

Question Number : 68 Question Id : 7368155322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:

Options:

1 % clear

- % lnown

3 o distinctive
4 = loving

Question Number : 69 Question Id : 7368155323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:

1 % smell
> o VOices
=z % looks
4 % sights

Question Number : 70 Question Id : 7368155324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the corresponding Question
number:;

Options:
1 # common

o o Unique
3 % divisive

4 % dilated

Question Id : 7368155314 Question Type: COMPREHENSION Sub Question Shuffling Allowed : No Group Comprehension
Questions: No

Question Numbers: (61 to 70)
Cuesticon Label | Comprehension
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Given below is a passage with ten blanks, numbered from 11 to 20.
Fill in the blanks by choosing the correct option given against the

corresponding Question number;

The spoken word is intimate, tied to the very breath and health of

the speaker. The written word makes possible the autonomous

survival of knowledge - with an oral (11), the word
disappears when the oralists have all been (12); but, as
people have noted for a long (13), writing is
impersonal, does not carry emotional (14) as well as
speech, and lacks the (15) characteristics - pitch, tone,
timbre, rate, etc. - that links speech to a (16). Certainly,

writing displays styles - some people insist they can

(17) any particular writer's writing - but it is also not as

(18) as speech. Even on the phone, we immediately know the

(19) of our loved ones. They are distinctive and

(20). Most civilizations recognized that writing had

been introduced as a divine gift and clearly associated the origins of

writing with the birth of their own civilizations.

Sub questions

Question Number : 61 Question Id : 7368155315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

1 % word

- % culture

- % approach

4 « tradition

Question Number : 62 Question Id : 7368155316 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding Question number;

Options:
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- % counted

- » Invigorated

4 % rewarded

Question Number : 63 Question Id : 7368155317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

, = period

- % duration

= % stretch

4 « time

Question Number : 64 Question Id : 7368155318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

1 % Insinuations

-, » implications

= # Instructions

4 + Intonations

Question Number : 65 Question Id : 7368155319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the
corresponding Question number;

Options:

, = identifying

-  defining

= % definite

4 % Intricate

Question Number : 66 Question Id : 7368155320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Fill in the blanks by choosing the correct option given against the

corresponding Question number;
Options:

1. ® wrlter Latest Sarkari Jobs, Govt Exam Results, m
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- % Scribe

z % reorder

4  Speaker

Question Number : 67 Question Id : 7368155321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the

corresponding Question number;

Options:

1 & feel

> % trace

=z # hear

4  recognize

Question Number : 68 Question Id : 7368155322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the

corresponding Question number;

Options:

1 = clear

> #% known

z « distinctive

4 = loving

Question Number : 69 Question Id : 7368155323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the

corresponding Question number;

Options:

1 % smell

5 « Voices

= # looks

4 = Sights

Question Number : 70 Question Id : 7368155324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct : 1 Wrong: 0.25

Fill in the blanks by choosing the correct option given against the

corresponding Question number;

Options:

| # common
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.  unique
= % divisive

4 % dilated

Sub-Section Number: 3
Sub-Section Id: 736815158
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 7368155325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of five sentences. numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful :

1. Sonnets also generally contain a volta. or turn.
2. Writers have used various devices to indicate the turn as well as placing the turn in
different places
3. Sonnet is a poem containing fourteen lines of iambic pentameter.
4. This is a subtle device is used to distract the reader from the monotonous beat of the
iambic pentameter,
5. Traditionally. sonnets were classified into groups based on the ryhme scheme
Options:
; » 24513

o ot B A2
5 % 3.1.54.2

4w 35124

Question Number : 71 Question Id : 7368155325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below is a set of five sentences, numbered 1 to 5, which are not
in a meaningful order. Choose from the options given, the order which will
be acceptable and meaningful :

1. Sonnets also generally contain a volta, or turn.

2. Writers have used various devices to indicate the turn as well as
placing the turn in different places

3. Sonnet is a poem containing fourteen lines of iambic pentameter.

4. This is a subtle device is used to distract the reader from the
monotonous beat of the iambic pentameter.

5. Traditionally, sonnets were classified into groups based on the ryhme

scheme
Options:

u 24513
st BEIA2
- % 3,1,54,2
oz 35524

Question Number : 72 Question Id : 7368155326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences. numbered 1 to 5. which are not in a meaningful
order. Choose from the options given, the order which will be acceptable and meaningful :

1. It demonstrates our deep emotional connections with our world — past., present, and
future.

2. It also allows us to visibly celebrate our deep emotional connections with our world.
3. Tears are a positive representation of who we are.
4. So go on and wear your tears with pride.
5. They are also scientifically proven to make you feel better.
Options:
; % 13452
o o 31,254
s % 34,125
4 % 34215

Question Number : 72 Question Id : 7368155326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Given below is a set of five sentences, numbered 1 to 5, which are not
in a meaningful order. Choose from the options given, the order which will

be acceptable and meaningful :

1. It demonstrates our deep emotional connections with our world - past,
present, and future.

2.1t also allows us to visibly celebrate our deep emotional connections
with our world.

3. Tears are a positive representation of who we are.

4.S0 go on and wear your tears with pride.

5. They are also scientifically proven to make you feel better.

Options:

. u 13452
. v 3,1,254
. % 34125
o3 3425

Question Number : 73 Question Id : 7368155327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of five sentences. numbered 1 to 5. which are not in a meaningful
order. Choose from the options given. the order which will be acceptable and meaningful :

1. Fuzzy logic is a form of many-valued logic in which the truth values of variables
may be any real number between 0 and 1. considered to be "fuzzy".

2. Have you ever wondered why a multiple choice question is more difficult than a
binary alternative [True-False!]?

3. Traditional logic relies on ‘crisp’. binary. values — zero or one.

4. Fuzzy logic has been extended to handle the concept of partial truth. where the truth

value may range between completely true and completely false.

In ‘crispy’ logic. a typical rose is either red or not red and it cannot be red and not

red and hence every sentence has the truth value 1 or 0.

L

Options:
, % 5.43.2.1

S.1.4.3

| )

o> ®
= ot 235,14
4 % 12345

Question Number : 73 Question Id : 7368155327 Question T
Single Line Question Option : N

Correct : 1 Wrong: 0.25

isplay Question Number : Yes
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Given below is a set of five sentences, numbered 1 to 5, which are not
in a meaningful order. Choose from the options given, the order which will
be acceptable and meaningful :

1. Fuzzy logic is a form of many-valued logic in which the truth values
of variables may be any real number between 0 and 1, considered
to be "fuzzy".

2. Have you ever wondered why a multiple choice question is more
difficult than a binary alternative [True-Falsel]?

3. Traditional logic relies on ‘crisp’, binary, values - zero or one.

4. Fuzzy logic has been extended to handle the concept of partial truth,
where the truth value may range between completely true and
completely false.

5.In ‘crispy’ logic, a typical rose is either red or not red and it cannot
be red and not red and hence every sentence has the truth value 1

or 0.
Options:

. w BA2
s u 25143
. v 23,514
won T23AS

Question Number : 74 Question Id : 7368155328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence/famous saying. the words/segments of which have been

jumbled up and numbered. Choose the right order of the words/segments from the given
options:

no friend / there is /as/ a book/ as loyval
1 2 3 4 5

Options:

, % 25134
5 2,1.543
= ot B15.3:4

4 % 23451

Question Number : 74 Questio

Single Line Question Option : N Latest Sarkari Jobs, Govt Exam Results,
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Given below is a sentence/famous saying, the words/segments of which
have been jumbled up and numbered. Choose the right order of the

words/segments from the given options:

no friend / there is /as/ a book/ as loyal
1 2 3 4 5

Options:

,» 25134
5 x 21543
. v 21,534
L% 23451

Question Number : 75 Question Id : 7368155329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence/famous saying. the words/segments of which have been
jumbled up and numbered. Choose the right order of the words/segments from the given
options;

no knowledge / but/ all knowledge/ Kills/ hurts
1 2 3 4 5

Options:
| % 23451

IRPS i
5 u 32514

o % 15234

Question Number : 75 Question Id : 7368155329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence/famous saying, the words/segments of

which have been jumbled up and numbered. Choose the right order

of the words/segments from the given options:

no knowledge / but/ all knowledge/ kills/ hurts
1 2 3 4 5]

Options:

;% 2,345,

s BH214 _
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3 R 3!2:5:1:4
4 % 1,5,2,34

Question Number : 76 Question Id : 7368155330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Journey of thousand miles begins with single step.
Options:
, w The journey of a thousand miles begins with single step.

> % Journey of a thousand miles begins with a single step.

5  Thejourney of a thousand miles begins with a single step.

4 % Thejourney of thousand miles begins with a single

Question Number : 76 Question Id : 7368155330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Journey of thousand miles begins with single step.

Options:
, = TIhe journey of a thousand miles begins with single step.

. » Journey of a thousand miles begins with a single step.

-  The journey of a thousand miles begins with a single step.

4 » The journey of thousand miles begins with a single

Question Number : 77 Question Id : 7368155331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Sometime questions are complicated and answers are simple.
Options:
, % Sometimes the questions are complicated and answers are simple.

> % Sometimes questions are complicated and answers are simple.

. Sometime the que Latest Sarkari Jobs, Govt Exam Results, m
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4  Sometimes the questions are complicated and the answers are simple

Question Number : 77 Question Id : 7368155331 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Sometime questions are complicated and answers are simple.
Options:

, = Sometimes the questions are complicated and answers are simple.

» » Sometimes questions are complicated and answers are simple.

- » Sometime the questions are complicated and the answers are simple.

4 v Sometimes the questions are complicated and the answers are simple

Question Number : 78 Question Id : 7368155332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is an ungrammatical. defective, sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

If I have seen farther it is byve standing on the shoulder of Giants.
Options:

, w IfThave seen farther it is by standing on the shoulders of Giants.

o  IfThave seen further it is by standing on the shoulders of Giants.

- % IfIhave seen further it is by standing on the shoulder of Giants.

, = IfIhave seen further it is bye standing on the shoulders of Giants

Question Number : 78 Question Id : 7368155332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

If | have seen farther it is bye standing on the shoulder of Giants.
Options:
, = If | have seen farther it is by standing on the shoulders of Giants.
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.,  If | have seen further it is by standing on the shoulders of Giants.

5 » If | have seen further it is by standing on the shoulder of Giants.

4 = If | have seen further it is bye standing on the shoulders of Giants

Question Number : 79 Question Id : 7368155333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Lifes under any obligation to give we what we except.

Options:
, % Life'sunder no obligation to give us what we except.

-  Life's under no obligation to give us what we expect.

- % Life's under any obligation to give us what we expect.

, % Life's under no obligation to give us what we expect

Question Number : 79 Question Id : 7368155333 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the
sentence. Choose the one which improves the given sentence:

Lifes under any obligation to give we what we except.
Options:
, = Life's under no obligation to give us what we except.

-  Life's under no obligation to give us what we expect.

- w Life's under any obligation to give us what we expect.

, » Lifes under no obligation to give us what we expect

Question Number : 80 Question Id : 7368155334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is an ungrammatical. defective. sentence and there are 4 options given. One
of them is the correct and improved form of the sentence. Choose the one which improves
the given sentence:

Only dead has seen end of war.
Options:
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- % Only the dead have seen end of war.

= % Only dead have seen the end of war.

4 % Only the dead has seen the end of war

Question Number : 80 Question Id : 7368155334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is an ungrammatical, defective, sentence and there are 4

options given. One of them is the correct and improved form of the

sentence. Choose the one which improves the given sentence:

Only dead has seen end of war.
Options:

 « Only the dead have seen the end of war.

5 % Only the dead have seen end of war,

- » Only dead have seen the end of war.

4 » Only the dead has seen the end of war

Question Number : 81 Question Id : 7368155335 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence ;

The local police inspector has been taking them to the headquarters regularly. {into
the passive voice form}

Options:

, « They have been being taken regularly to the headquarters by the local police inspector.

> % They are being taken regularly to the headquarters by the local police inspector.
- % They have been taken regularly to the headquarters by the local police inspector.

4, % They have being taken regularly to the headquarters by the local police inspector

Question Number : 81 Question Id : 7368155335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below is a sentence which is to be transformed and rewritten as
indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

The local police inspector has been taking them to the headquarters

regularly. {into the passive voice form}
Options:
They have been being taken regularly to the headquarters by the local

.  police inspector.

They are being taken regularly to the headquarters by the local police

-, % Inspector.

They have been taken regularly to the headquarters by the local police

5 % Inspector.

They have being taken regularly to the headquarters by the local police

4 % Inspector

Question Number : 82 Question Id : 7368155336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence ;

She replied with tears in her eves, “What a stupid fellow have I been loving!™ {Report
this}
Options:
, % She said that she has been loving an extremely stupid fellow.
She exclaimed that she has been loving a fellow who is more stupid than she had
> % conceived.

-  She lamented the fact that she has been loving an extremely stupid fellow.

4 % Sheregretted the fact that she has been loving a stupid fellow. by way of replying

Question Number : 82 Question Id : 7368155336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Given below is a sentence which is to be transformed and rewritten as
indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

She replied with tears in her eyes, “What a stupid fellow have | been
loving!” {Report this}
Options:
, » She said that she has been loving an extremely stupid fellow.

She exclaimed that she has been loving a fellow who is more stupid than
> % she had conceived.

She lamented the fact that she has been loving an extremely stupid
= « fellow.

She regretted the fact that she has been loving a stupid fellow, by way of

4 » replying

Question Number : 83 Question Id : 7368155337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as indicated in
brackets and there are four options given. Choose the one which ‘correctly’ transforms the
given sentence ;

He ran fast. He missed the train. {Rewrite as a complex sentence;}
Options:
, w» Running fast. he missed the train.

> % Heran fast. yet he missed the train.

-  Though he ran fast. he missed the train.

4, % Even though he ran fast. he could not catch the train

Question Number : 83 Question Id : 7368155337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a sentence which is to be transformed and rewritten as

indicated in brackets and there are four options given. Choose the one

which ‘correctly’ transforms the given sentence :

He ran fast. He missed the train. {Rewrite as a complex sentence}

Options:

i ® RIJ nni T'IQ fEI St: h Latest Sarkari Jobs, Govt Exam Results, m
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, » He ran fast, yet he missed the train.
5  Though he ran fast, he missed the train.

4, » Even though he ran fast, he could not catch the train

Question Number : 84 Question Id : 7368155338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in italics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

That shopkeeper took back the L-size tops and gave me an XI. and also took back his
personal comments.
Options:
The shopkeeper exchanged the L-size tops for an XL and admitted his comments were

,  appropriate and took them back.

The shopkeeper took back the L-size top and gave an XL one in exchange and apologized
- % for his personal comments.

The shopkeeper gave an X1 -size tops for the L-size and admitted that he was wrong to
- % have made personal comments earlier.

, % lmade the shopkeeper exchange my tops and apologize for being rude

Question Number : 84 Question Id : 7368155338 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in italics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses italicized:

That shopkeeper took back the L-size tops and gave me an XL and

also took back his personal comments.

Options:
The shopkeeper exchanged the L-size tops for an XL and admitted his

|, « comments were inappropriate and took them back.

The shopkeeper took back the L-size top and gave an XL one in

» » exchange and apologized for his personal comments.

The shopkeeper gave an XL-size tops for the L-size and admitted that he

- » Wwas wrong to have made personal comments earlier.

4 » | made the shopkeeper exchange my tops and apologize for being rude

Question Number : 85 QuestiorE i CUELE SR C | Know More |13y Question Number : Yes
Single Line Question Option : NERLEELEES and updates on one click




Correct : 1 Wrong: 0.25
Read the sentence given below. Pay attention to the words/phrases/segments in italics.
Choose the appropriate ONE WORD substitutes for the phrases and clauses italicized:

She recently took up voga as a hobby and it has taken up most of her free time
Options:
, = Recently she adopted yoga as a hobby and it has adopted most of her free time.

> u Recently she occupied most of her free time with yoga.
-  Recently she adopted yoga as a hobby and it has occupied most of her free time.

, % Hernew hobby. yoga. adopted recently. has occupied most of her free time

Question Number : 85 Question Id : 7368155339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Read the sentence given below. Pay attention to the

words/phrases/segments in italics. Choose the appropriate ONE WORD

substitutes for the phrases and clauses italicized:

She recently took up yoga as a hobby and it has taken up most of her

free time
Options:
Recently she adopted yoga as a hobby and it has adopted most of her

1 # free time.

» » Recently she occupied most of her free time with yoga.

Recently she adopted yoga as a hobby and it has occupied most of her
2 « free time.
Her new hobby, yoga, adopted recently, has occupied most of her free

4 ®% time

Question Number : 86 Question Id : 7368155340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

As long as / one pursues / ones dream, / one will not become old.
A B C D

Options:

1 & A

g_ﬁB

z ¢ C .
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4 % D

Question Number : 86 Question Id : 7368155340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

As long as/ one pursues / ones dream, / one will not become old.

A B C D
Options:

1_%1"‘\
E_RB

3¢ C
4 % D

Question Number : 87 Question Id : 7368155341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

A sure-fire formula / for failure/ is trving to please / anybody.
A B , & D

Options:

1 # A

E_QB
3. % C
4.+ D

Question Number : 87 Question Id : 7368155341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

A sure-fire formula / for failure/ is trying to please / anybody.
A

Options: Latest Sarkari Jobs, Govt Exam Results,
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1w A
> % B
2 % C
4« D

Question Number : 88 Question Id : 7368155342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a. b. ¢. and d. One of
these parts contains an error. Choose the part that has the error:

We called for vou / last night / but /vou weren't home.
A B & D

Options:

1.¢ A

E_QB
E.WC
4 % D

Question Number : 88 Question Id : 7368155342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a sentence which divided into four parts labelled a, b, c,

and d. One of these parts contains an error. Choose the part that has

the error:

We called for you / last night / but /you weren't home.
A B C D

Options:
1, WA

E_WB
3_$$C
4% D

Question Number : 89 Question Id : 7368155343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

Our teacher the final project three separate parts.

Options:

1 ® break: into Latest Sarkari Jobs, Govt Exam Results, m
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-  Droke:into
5 % broke: down
4 % break: down

Question Number : 89 Question Id : 7368155343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given.

Our teacher the final project three separate parts.
Options:

, % break; into

-  broke; into

- % broke; down

, % break; down

Question Number : 90 Question Id : 7368155344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing the correct option
given.

We of those pushy neighbours.

Options:
, w Are glad to see the front

5 % Were happy to see the front
5  Were glad to see the back

4 % arehappy to see the front

Question Number : 90 Question Id : 7368155344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Fill in the blanks with the correct form of idioms /proverbs by choosing

the correct option given.

We of those pushy neighbours.

Options:
, = Are glad to see the front

® WE re happy i(e] Latest Sarkari Jobs, Govt Exam Results, m
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- w Were glad to see the back

4 » are happy to see the front

Question Number : 91 Question Id : 7368155345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

You made vour » NOW you must in it.
Options:

| % SOUpP:SWim

> % room: sleep
5  Ded:lie
4 % cot:lay

Question Number : 91 Question Id : 7368155345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks:

You made your , Now you must in it.

Options:
, = Soup; swim

-, » room; sleep

5  bed; lie

4 w cot; lay

Question Number : 92 Question Id : 7368155346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Complete the sentence below by choosing one related pair of words that will fill in the
blanks:

One man's is another man's ;

Options:
| % fish: caviar

> % lamb: steak

-  Ineat: poison

4 ® bl Eﬂd. PO ld'g = Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 92 Question Id : 7368155346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Complete the sentence below by choosing one related pair of words that

will fill in the blanks:

One man's is another man's -

Options:
, = fish; caviar

> % lamb; steak

- w Mmeat; poison

4 » bread; porridge

Question Number : 93 Question Id : 7368155347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Decide (Verb )
Options:
1 % Settle

> # Fixed
3 « Determine

4 % Elect

Question Number : 93 Question Id : 7368155347 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Decide (Verb )
Options:
1 # Settle

> # Fixed
= « Determine

4 % Elect

Question Number : 94 Questio

Single Line Question Option : N Latest Sarkari Jobs, Govt Exam Results,
Correct: 1 Wrong: 0.25 Vacancies and updates on one click

Disnlay Question Number : Yes



A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Imperfect

Options:
1 % Partial

- w Faulty

- % Incomplete

4 « Deficient

Question Number : 94 Question Id : 7368155348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning

{synonym}. Pay attention to how the word would be used to, if required:

Imperfect
Options:
1 = Partial

» % Faulty
- » Incomplete

4 « Deficient

Question Number : 95 Question Id : 7368155349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word closest to it in its meaning {synonym}. Pay
attention to how the word would be used to. if required:

Dread

Options:

, % Anxiety
-~ % Horror

= o Fear

4 % Alarm

Question Number : 95 Question Id : 7368155349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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A key word is given below. Choose the word closest to it in its meaning
{synonym}. Pay attention to how the word would be used to, if required:

Dread

Options:
, = Anxiety

- % Horror
= « Fear

4 % Alarm

Question Number : 96 Question Id : 7368155350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Respect [verb]
Options:
1w Contempt

> w Disregard

z % Disown

4 % lgnore

Question Number : 96 Question Id : 7368155350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Respect [verb]
Options:
, « Contempt

- » Disregard

= % Disown
4 % lgnore

Question Number : 97 Question Id : 7368155351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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A key word is given below. Choose the word which indicates the contradictory or opposite
meaning {antonym;} of the key word:

Sacred

Options:

1 « Profane

- w lreligious

- w Earthly

4 % Lay

Question Number : 97 Question Id : 7368155351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
A key word is given below. Choose the word which indicates the

contradictory or opposite meaning {antonym} of the key word:

Sacred
Options:
1 « Profane

- w Irreligious

- » Earthly
4 % Lay

Question Number : 98 Question Id : 7368155352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:
1 % handwrite

> % typewrite
%z % underwrite
4  Playwrite

Question Number : 98 Question Id : 7368155352 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled

wrongly. Choose the word that has been spelled wrongly.
Options:

1 % handwrite
! Latest Sarkari Jobs, Govt Exam Results, m
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. » typewrite
= # underwrite

4 v Playwrite

Question Number : 99 Question Id : 7368155353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. One of the four words is spelled wrongly. Choose the
word that has been spelled wrongly.

Options:

1 % exceed
> % proceed
= % succeed

4 « receed

Question Number : 99 Question Id : 7368155353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of four words. One of the four words is spelled
wrongly. Choose the word that has been spelled wrongly.

Options:

| % exceed

. » proceed

2 % Succeed

4 « receed

Question Number : 100 Question Id : 7368155354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Given below is a set of four words. Choose the word with the correct spelling:
Options:

, % abruptt

> % Dbankruptt

5 o corrupt

4 % dissrupt

Question Number : 100 Question Id : 7368155354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Given below is a set of four words. Choose the word with the correct

spelling:
Latest Sarkari Jobs, Govt Exam Results, m
Options: Vacancies and updates on one click




, = abruptt

- % bankruptt

o

» corrupt

4 w dissrupt

Ceneral Intelligence

Section Id ; 736815105

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 50

Number of Questions to be attempted: 50

Section Marks: 50

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 736815159
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 7368155355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If 5 men can do a work in 12 days. How many men will be required to do the same work in
6 days?

Options:
1 #® 4men

- % Omen
= « 10 men
4 % 12men

Question Number : 101 Question Id : 7368155355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ISR FEFA A 2RFAFTE A6 o7 & sl v 7 70 &
fore farae st & HEegehar gem?

Options:

 p T

2.%6.3

3.&?103?5[
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Question Number : 102 Question Id ;: 7368155356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Armnab left his job and started his own business. He might have taken such a decision
because :

Options:

, w» Hewas doing the job for free

- % His parents were business minded
- % He belonged to minority

4 « He wanted something of his own

Question Number : 102 Question Id : 7368155356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT F HUA AP OISR HIT AR I fovam| 3w v Ao safodr
orar gem F=ite
Options:

o IE HFS H AR FT @ e
. % 38 ATH-ar R # S @ e g@er
. % F8 FoTgEhe grem

o p =T FT FAT TEar gem

Question Number : 103 Question Id : 7368155357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Shubham is a vegetable vendor. He then started delivering vegetables online. Which of the

following situations led him to take such a decision?
Options:
, % The society does not buys vegetables from shops now-a-days

» % The society does not eats food
- % Shubham is not interested in selling vegetables

4 « Selling vegetables online is earning him a good profit

Question Number : 103 Question Id : 7368155357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

IS & TATS & W7 Hieardl i galal & ! Ted

1 %
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Question Number : 104 Question Id : 7368155358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

To cover a distance of 450 km in 15 hours how much speed is required?
Options:

, % 35 kmph

> % 45 kmph

- % 18 kmph

4  30kmph

Question Number : 104 Question Id : 7368155358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

450 forarteT #r gff 1 15 Uer H a7 e & fov e aifa & smaegear
g2

Options:

, = 35 Travwer
-, » 45 TFdveer
5 » 78 AT
4 v 30 fdveer

Question Number : 105 Question Id : 7368155359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How much distance a car can cover in 3 hours if it is travelling with a speed of 34 kmph?

Options:
1 % 512km

> % 17km
2 « 102 km

4 % 12km

Question Number : 105 Question Id : 7368155359 Question T
Single Line Question Option : N

Correct : 1 Wrong: 0.25

isplay Question Number : Yes
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Options:

, % 512 T
- % 17 fFar
= v 102 &
4 % 12 e

Question Number : 106 Question Id : 7368155360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Two trains having lengths 200 m and 250 m, are travelling in opposite direction with a
speed of 220 m/s and 380 m/s. How much time they will take to cross each other?

Options:
1« 0.75 sec

> % 06.99 sec
= % 7.5 sec
4 ® 8sec

Question Number : 106 Question Id : 7368155360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ar Yeenfsar S @ars 200 Hiex 3R 250 AT 8, 9% T g & Awa
220 #Hraes A 380 HEHs & I 6T 8] 376 TH gH @ 9N & H e
THT M7

Options:

. » 0.75 TFs
. » 6.99 TFE
s % 7.5 UFs
4 % 8 UFS

Question Number : 107 Question Id : 7368155361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If an article is sold at gain of 35% then selling price will be of cost price.

Options:
1 % 100%

> % 35%

5 « 135%

4 ® 65% Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 107 Question Id : 7368155361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Ifg T WA F 35% WM F WY A= A §, O IHN @ Hed, FT Ho T
&r gt

Options:

% 100%
, % 35%
2 « 135%
. % 65%

Question Number : 108 Question Id : 7368155362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Cost price of a toy car is 450 Rupees. If the gain is 20%o then what will be the selling price
of that toy car?

Options:
; % Rs.670

> o R5.540
z % Rs.320
4 % Rs.660

Question Number : 108 Question Id : 7368155362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

v fTeller arelr X FT FT JqoT 450 T g 3R ot 20% g, a 3HE ey
Hod fordetr grem?

Options:

. % . 670
» ¢ ¥ 540
- % % 320
L = F. 660

Question Number : 109 Question Id : 7368155363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
If HIMAWARI is coded as GILBVBQJ then KARISHMA will be coded as :

Options:
1 % GRTYUIO

,  JBQIRILB

- % JKQSRIMC
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4 % RTHNFDS

Question Number : 109 Question Id : 7368155363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Ife HIMAWARI &7 F1E 9197 & GJLBVYBQJ for@r =rar %’, ar KARISHMA =T
g 9T FiE B Jraem?

Options:

, = GRTYUIO
- « JBQJRILB
= % JKQSRJMC
4 % RTHNFDS

Question Number : 110 Question Id : 7368155364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
If dog is cat, cat is mouse. mouse is hen and hen is horse. Who gives us egg?

Options:
1 #® Hen

- o Horse
= % Cat
4 % Mouse

Question Number : 110 Question Id : 7368155364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ofE Fear Rreenr &, Toeeh =g &, =@ & ok 7o o B O R a o
HleT & 8?

Options:

1 ® 5

2. ¥ RIEl
5 % faeen
4 % g

Question Number : 111 Question Id : 7368155365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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What will be correct figure which can be formed by the parts A. B, C and D?

JA E —
7 —

Options:

1.W@
E.Wﬁ

S.Wﬁ
4.@"@

Question Number : 111 Question Id : 7368155365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

A, B, C 3R D & iF ¥ Wer H$id a8 Thal &7
Vv
C D
Options:

1%@

A,
VAV,

Y

Question Number : 112 Question Id : 7368155366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

®

=

4

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click



If bangle is called whistle, whistle is called table. table is called cassette, and cassette is
called box then which is played in the tape recorder?

Options:
1 % Table

> o BOX
%z % Whistle
4 % Cassette

Question Number : 112 Question Id : 7368155366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ofE v T B WEr FEd & GE F e, Tuer F Foe, FAe F Bear, A
T 77 &7 R 7 B 79 22

Options:

1_&-323?4’

o v e

3 ® ST

4_&3%3

Question Number : 113 Question Id ;: 7368155367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

If cow is air. air is sand. sand is plateau. plateau is well. well is island and island is sky
then from where will a woman draw water?

Options:

1 % Sand

> % Plateau

z ® C_;k}r

4 + Island

Question Number : 113 Question Id : 7368155367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

HHA g, ar 5T v 3ig 9= +:31 ¥ AFeei?
Options:

L & 30

> % Hol

z % JTHHANA

, 9
4. TN
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Question Number : 114 Question Id : 7368155368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In certain language GAIN is coded as DXFK. in the same language LOSS will be coded as:

Options:
; % MNSS

- « ILPP
5 % ZNOO
4 ® ASKK

Question Number : 114 Question Id : 7368155368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

oo f3fose o9 & GAIN &1 DXFK H Ifeg Srar s/ar g, ar 38T (w1 &
LOSS &I &8 et SIfea &ar soem?

Options:

. % MNSS
>  ILPP

2 & ZNOO
. % ASKK

Question Number : 115 Question Id : 7368155369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

In a certain language LOSSING is coded as MNTRIMH. in the same language SUCCESS
will be coded as :

Options:

 «+ TTDBFRT

> % RRTESAW
- % TRDESSR
4 % TRDDFTT

Question Number : 115 Question Id ;: 7368155369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T fAforse o9 & LOSSING FF MNTRIMH & &g &ar =m=m &, ar 34
HTST # SUCCESS &I &F 9T Fifsd Far Amwamm?

Options:

. v TTDBFRT
, » RRTESAW
- »« TRDESSR
. %« TRDDFTT
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Question Number : 116 Question Id : 7368155370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
How many triangles are there in the given figure?

Options:
1.9

Lh

2_%3
3_%5
4 % 7

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 116 Question Id : 7368155370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

& 1% iy & Ay Rerr 2

Options:
1. ¢ 5
o W 3
T W 6

4 % 7
Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 117 Question Id ;: 7368155371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following
322+334-123+345x234

Options:

1 % 45632

- ® 066534

5 % 99865
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4 « 81263

Question Number : 117 Question Id : 7368155371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

=1 fr FuTEar fifsT:
322 ¥ 334 - 123 4345 x 234

Options:

. % 45632
- % 66534
- = 99865

. v 81263

Question Number : 118 Question Id : 7368155372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Compute the following
7.82123 541 B2

Options:

1 « 616.33

> ® 456.33

z % 871.1

4 % 120.11

Question Number : 118 Question Id ;: 7368155372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

= Fr aurar e
7.8% + 23 5% + 1.8

Options:

. v 616.33
. » 456.33
5 = 871.1

4 % 120.11

Question Number : 119 Question Id : 7368155373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Five girls are sitting in a row. Seema is right of Rajni and left to Geeta. Anita is sitting left
to Rajni. Arti 1s between Rajni and Anita. Who is sitting between Seema and Arti?

Options:

1 ® Geeta

o B Seetna Latest Sarkari Jobs, Govt Exam Results, m
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5  Rajni

4 % Anita

Question Number : 119 Question Id : 7368155373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

9 TEfeRaT U Uied H 83T g AT AT F aigar 3T 3T e ' e
43T 8, 3T AT & d10 MY 487 g, HRAT T AT 3Ear F 9= 7 g g9
AR 3RE F 9 FiF d3 2

Options:
LGl
5 w HEAT
3 v Tl
0w ST

Question Number : 120 Question Id : 7368155374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Compute the following.
12.3/23.2+H123+45.3)x121+667

Options:
1 % 11234.33

> « 21031.83
5 % 12211.33
4 % 567.99

Question Number : 120 Question Id : 7368155374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

=T & uEmr i
123 1 23.2 + (123+45.3) x 121 + 667

Options:

% 11234.33
-« 21031.83
. % 12211.33
., % 567.99

Question Number : 121 Question Id : 7368155375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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m=aeEa & =T HiEa:
((2.5)%)?

Options:

| v 244.140
, % 123.445
5 % 445.32

., % 667.245

Question Number : 121 Question Id : 7368155375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Compute the following
(2.5

Options:

1 ¢ 244.140

> % 123.445
3 % 44532
4 % 667.245

Question Number : 122 Question Id : 7368155376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
An unknown girl who is travelling along with you in the bus, requires medical emergency
due to some internal problems. What would you do if there is no doctor in the bus?

Options:

, % Takethe lead and try to arrange a doctor in the nearest city as early as possible

-  Tell the bus conductor to take the bus to a nearby hospital
- % Wwon't do anything because that is not your personal look out

, % Tell everyone in the bus not to help the girl as she is unknown

Question Number : 122 Question Id ;: 7368155376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

U AT TRl ST HTTF ATT HEFT FT @ g 30 3SFAT dhellh & FHI0T
AT fFeaT &7 T 8| T FT FET PR IH H Fe o SiaeT Adr
g7

Options:

, » HTT g&e AR THar Fedr & " 99 F @Y § SiFe H HIEAT FHE)
FH & F5FT H 5T IRIEATT T 39T FCT TF TS9=r ool & Teh 917 &

=2 v i I Eil J .:"'I l Latest Sarkari Jobs, Govt Exam Results, m
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Fo off F8T FET FOF Ig BT IiFd9T ATHAT Far &

= # 3

., » TEHI 3 TS FH FFEAAT FIA § FAT FLET FAh §H 37 F@l AT

Question Number : 123 Question Id : 7368155377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
You are an auto driver. A person who has travelled in your auto has lost his bag in the auto
itself. What will you do?

Options:
, = Keep the bag with you and run away

> % Search the contents of the bag
-  Search for the person. If not found, give the bag fo the police.

, % Straight away go to the police and tell them that you find it somewhere else

Question Number : 123 Question Id : 7368155377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
HIT UF HTST AT &| T cafda JAT T 37T H ST o7, 39T 997 3f7er H
& ST AT 8| HTT & Hr?

Options:

| % ST Yl 9TH I@HT ST AT
o % ST H AAT FT SHAST FE
_ 30 TR # g3 3R 37 i A Ber a d g & gErer A

e Hrr 9o % 98 A AR 3¢ IF FaTeer R e 7@ FEr AR ¥ e

Question Number : 124 Question Id : 7368155378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

You are a Manager. One of your employee is irregular in coming to the office. What will
you do?

Options:

, w Fire him straight away

> % Ask for some bribe to settle down the thing
-  Ask for the reason and then take an appropriate action

4 % Won't do anything

Question Number : 124 Question Id : 7368155378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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HIT TF JaeIF §| HIHRT Teh FHANT FATT JdT H HATH T &) 39 =ar
FLT?

Options:

- 3HE ATHAT el & v Fo feaa o

. FROT TS R Y 35 FAfaE FeR some
Fo off FEr FLET

4 ® 3

Question Number : 125 Question Id : 7368155379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

An old man is walking down the street in the dark. You are passing by. What will you do?
Options:
, % Askhim if you can drop him to his destination

o  Ask him where he wants to go and then drop him to a safe place near his destination
- % Askhim and go away

4 = Won' ask anything

Question Number : 125 Question Id : 7368155379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

T T HGAT 3N H FSah W I @ g| AT 3o hild & folehed W 8] AT
FIT FE?
Options:

|« 3°€ 3% T a% osd & e 99
, o 370 O T 30 e ST § AR s W & quiEe e W ool &
Fo off F@ o

4 ® 2

Question Number : 126 Question Id : 7368155380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The street light of your street isn't working and it’s dangerous for students especially girls
who return to home after coaching in late evening. What will you do?

Options:

, » You yourself will get it right

> % Ask for the peopl S
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o  Ask for the appropriate authority to get it right

4 ® Won' get it rectified as your child does not goes to coaching.

Question Number : 126 Question Id : 7368155380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

mﬁmﬁmmﬁﬁmzﬁ%aﬂ?mmiﬁvagd EIATF &
o =TT & [T S a7 F AT HIEE F g Oy dtedr 2 3 /=4
FE?

Options:

HT Gg ¥ & 3§ UL

1 %

- c‘»ﬂ?ﬁﬁﬁﬁﬁﬁﬁﬁﬂﬂﬁ#ﬁv
. o TR & 99T 38 FuR F o
31T A& GERATT FIfeh HTTeh Foer il A6 A &

4 %

Question Number : 127 Question Id : 7368155381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: He was fined for not wearing a Helmet while riding a bike.

Argument 1: Taking fine for everything has now become a trend
Argument 2: Wearing a helmet while riding a bike is necessary

Options:
L ® Argument 1 1s strong

o o Argument 2 is strong

- » DBoththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 127 Question Id : 7368155381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
FUT: TME ToTd FHT 2oTHT o Tg=I=7 W 3HIT =Tl Tamar
T

T 1: 87 =T H I SR HTT el &7 I 8o 34T &
% 2: TMEr TS FAT THC TgAAT HETF &

Options:

L% T 13AFE

& o c Eél ) 2 a‘n:r % Latest Sarkari Jobs, Govt Exam Results, m
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g 260 B somE
| o T o o o

Question Number : 128 Question Id : 7368155382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: The use of dangerous chemicals in fire crackers must be banned.

Argument 1: They cause air pollution
Argument 2: They are not a way to employment in the country

Options:
| Argument 1 is strong

5 #® Argument 2 is strong
- » Boththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 128 Question Id : 7368155382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FUT : TG H TAlATF TIAT FT 99T A9 FT 24T F1igT

6 1: § I JGNUT & FROT &
e 2: F 397 H U T JATH FdT &

Options:

o TR 13AFE

. x 9% 23T E

5 » Gl & &% 3 &

, x P15 o % 3F A8

Question Number : 129 Question Id : 7368155383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Statement: Mother Teresa won the Nobel Prize for peace.

Argument 1: She didn't marry

Argument 2: She spent a lot of time alone
Options:
L ® Argument 1 is strong

5 % Argument 2 is strong

» Both the Argume _
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4 « Neither of the Arguments are strong

Question Number : 129 Question Id : 7368155383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

FUT. A ST A AMfed & o0 e T S

e 1: 3ol oMar F@r #r
TF 2: 3Rl FIPT THT el =OaT =T

Options:

 x TR 13ATE

.« TH 23TE

5 » ol & T 39 &

, v FE o TF @ A E

Question Number : 130 Question Id : 7368155384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Statement: The ratio of Patient to doctor is quite high in India.

Argument 1: There are limited seats as there are less number of medical colleges in India
Argument 2: Indian medical colleges do not produce quality doctors

Options:
| Argument 1 is strong
5 #® Argument 2 is strong

- » DBoththe Arguments are strong

4 % Neither of the Arguments are strong

Question Number : 130 Question Id : 7368155384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

FUT A H A AR Rfeems #7 sa Frfr 3= §
ED 1:S=I'I'J.Frﬁﬁgr| FH ﬁﬁqﬁﬁﬁﬂaaﬁﬁma@mﬁ?
& 2: 9IS Afzda o= ¥ THaas anr e+ TOTET a8l &

Options:

o dh 13HE
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Question Number : 131 Question Id ;: 7368155385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Statement: The Election Commission has appointed a special team for conducting
effective elections at the Naxalite area.

Argument 1: Conducting elections in a Naxalite prone area is quite dangerous
Argument 2: Naxalites kill officials for no cause

Options:
|  Argument 1 is strong

5 % Argument 2 is strong

5 » Boththe Arguments are strong

, % Neither of the Arguments are strong

Question Number : 131 Question Id : 7368155385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

maﬂ:dwﬂmmﬁﬂﬂm T W I FA & [0 FoATT AT F
T I & # Tea Thar

dF 1 TFES WA &l H IAE SEE Watad g
I 2: FAFHel ATUFIRAT F T8 AR &

Options:

o TH13AFE

.« TF 23T E

5 2l & 9 3§

, « P15 3 TF W T E

Question Number : 132 Question Id : 7368155386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Anita's only son-in-law is the son of Abhay's father. The daughter-in-law of Abhay's father
is Anita's
Options:
1 % sister

> % 1o relation

5  daughter

4 % mother
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Question Number : 132 Question Id : 7368155386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT FT FHAAT STAG F9T & Ryar 7 de7 8| 30577 & Bar Fr 9g s &
AT o9TaT 7

Options:

1_33337{
. « IS FFEST T

3.-¢fa€'r
4.% G

Question Number : 133 Question Id : 7368155387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Pointing towards a photograph. Abhijeet said."He is the grandfather of my father's wife's
daughter" Abhijeet is the man's
Options:
1 % father
o ® son
= % son-in-law

4 grandson

Question Number : 133 Question Id ;: 7368155387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T FEER H HT FART F gV AT F Fe1, T W T F 9= F 9
& SIereT &' JEST &7 37 =g § T TEEA g7

Options:

e

o % oT

2 # GIAlG

v

Question Number : 134 Question Id : 7368155388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The grandson of Mukesh's grandfather is the father of Sukanya's daughter. Who is
Sukanya's mother-in-law to the grandfather mentioned?

Options:
, w» Daughter

-  Daughter-in-law

lc o ; Latest Sarkari Jobs, Govt Exam Results, m
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4 % Sister

Question Number : 134 Question Id : 7368155388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

HT & GIET HT TIaT FohedT $T 98T &7 ar g ovear Hr @H 387+
1T T FAT ST 272

Options:

1_@?@'
2.«?3{
3_$alq13ﬁ'
4_33337{

Question Number : 135 Question Id : 7368155389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The only son of Harish's brother is to the Harish's smallest son

Options:
1 % 1nno relation

> % brother
3  cousin

4 % uncle

Question Number : 135 Question Id : 7368155389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

glIeT & TS FT THAlar 92T FT F TEY TIE 8 FT g

Options:

S aﬂé’aﬁ
E.Wg:né-
S.Jmm%

4 % HTEIT

Question Number : 136 Question Id : 7368155390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Rinku is the elder son of Sandhya. Tinku. being the younger son is the paternal uncle of
Mishti. If Shobha is the mother of Mishti. then Sandhya is of Shobha

Options:
, % Daughter

) o 1_‘ *e T
> ® DEH‘__:[T'I'EI in-law Latest Sarkari Jobs, Govt Exam Results, m
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= « Mother-in-law
4 % Sister

Question Number : 136 Question Id : 7368155390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
R, Tear 7 a7 d271 & | &, ofer a7 § AR Beér &7 == g | 3E oy
fBs&r &1 Arar &, ar gear ofvsw & gl

Options:

1_$sﬂ€1'
z.ﬁai

E.Jw
4.3333?

Question Number : 137 Question Id : 7368155391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:
1 % Bromine
- % Jodine

% % Chlorine

4 « Phosphine

Question Number : 137 Question 1d : 7368155391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

T gv Rwedt # ¥ e @ g
Options:

1 ® m

o B 3-111ﬂ'5'7‘l?-r

z ® a’?"ﬁﬁ?

4 qﬁﬁm

Question Number : 138 Question Id : 7368155392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options?

Options:
L % NPQ

o R RTU Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




2 % JLM
4 ¢ MOQ

Question Number : 138 Question Id : 7368155392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

ﬁmﬁ%ﬁﬁﬁaﬂﬁmﬂmamfmarm?ﬁﬁﬁﬁﬁﬁm%?
Options:

. = NPQ

- % RTU

2 % JLM

4« MOQ

Question Number : 139 Question Id : 7368155393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In the given alternatives. one of the number is dissimilar from the other given alternatives.
Find the one which is dissimilar

Options:
1 #® 01

- % 13
T W 51

4. & 635

Question Number : 139 Question Id : 7368155393 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
%@@t%ﬁlﬁﬁﬁum &I 3T é’rg‘émﬁﬂﬁzﬁrﬁlaﬁmm
F{ FT TF A Al g

Options:

1 & 91
> % 13
z % 51
4 v 65

Question Number : 140 Question Id : 7368155394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the odd one out from the given alternatives

Options:
| « Volleyball

. Gﬂlf Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




= % DBaseball
4 # Cricket

Question Number : 140 Question Id : 7368155394 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

few go e 7 ¥ e o ga
Options:

| v ST

o % Mo

- % dEETA

4 % Tohehe

Question Number : 141 Question Id : 7368155395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of following keywords/phrases differ from the others in the given options?

Options:

. % T8Q
> « MLK
z # NMK
4 % GFD

Question Number : 141 Question Id : 7368155395 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ﬁlﬁﬁﬁ?ﬁﬁﬁmmmﬁmrﬁv?ﬁmﬁﬁﬁ:ﬁ#
Options:

, % TsSQ

- v MLK

= % NMK

4 % GFD

Question Number : 142 Question Id : 7368155396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

7 28 63 126 124 126 124
2 2 3 3 | a a ::),1 = s | s s| s s | s

4 9 L6 o 23 10 10 25

1 3 a 4
Options:
1 & P
o W 3
3.¢ 1
4 % 4

Question Number : 142 Question 1d : 7368155396 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

fow gu 3ot A & @ 3@ B F gfAv S v B A g s aEe &
Soft FF A @ T

7 2+ LE] 126 1z4 126 124
2 2 3 z | a 4 ::::- S 5| s s s 5]s 5

a 4 16 o 25 10 g0 25

n 2 3 :
Options:
1 % 2
5 ® 3
3¢ 1
4 % 4

Question Number : 143 Question Id : 7368155397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

bﬁb‘ﬂb _‘ EC>¢ Gth#:hh 0

] L]

Options:
1 ® s

>« 3
3_%]

4 % 4
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Question Number : 143 Question Id : 7368155397 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fow gu 3o Rl & & 3@ B & gfAv A wea BEr A g S wEEr By
Soft Fr I ™ T+

<
I;Qf: ﬁﬂhh r ? = gh oﬂmﬁahh*
L% ] (o, 2 o < w <

i ] L] 4

Options:
1 & 2

>« 3
3_321

4 % 4

Question Number : 144 Question Id : 7368155398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

A 1 {4 |2 /P |$ﬁ o1l 13 g7 NGB
N

& 0 0N ALl e O 70 10N 208N Aol los A a

Options:
1. 2
> % 3
= % 1
4 % 4

Question Number : 144 Question Id : 7368155398 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
fow gu 3o Rl & & 3@ B & gfAv A wea BEr A g S wEEr By
Soft Fr I ™ T

4 0 & ?Qﬁ ) u o

b N Al o N _/0]0 A\ of |\ /4!

] ] ] i

Options:
1 ¢ 2
o W 3

3_%1

4 % 4 Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




Question Number : 145 Question Id : 7368155399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

Options:
1.¢ 2
> ® 3
= # 1
4 % 4

Question Number : 145 Question Id : 7368155399 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
%@g@ﬂﬁﬁﬁ@mﬁﬁaﬁgﬁvﬁmaﬁﬁﬁa@ﬁéﬁww| EE
oft & IR @ Teh:

ry o/ % r;) E:)ﬁoaﬁ 0

ol IR 2] A o O o |& a

Options:
1. ¢ 2
> % 3
= % 1
4 % 4

Question Number : 146 Question Id : 7368155400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Select a figure amongst the Answer Figures which will continue the same series as
established by the three Problem Figures

P00 =0

Options:
1. %

| B

o R

3

#
4. Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click
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Question Number : 146 Question Id : 7368155400 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

fow gu 3o Rl & & 3@ B & gfAv A wea BEr A g S wEEr By
AT F AW @ T

OREIDFI T

Options:

1 % 2

2_%3

3¢ 1
4 % 4

Question Number : 147 Question Id : 7368155401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Find the missing term of the series.
135.246.,357. 579

Options:
1 ® 435

o 468
2 % 444
4 % 456

Question Number : 147 Question Id : 7368155401 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FET &1 T U F AT HIAA
135,246,357......,579

Options:

, % 435
. » 468
2 444
., = 456

Question Number : 148 Question Id : 7368155402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Find the missing term of the series.
29.92.49.94, .96

Options: )
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1.« 69
> % 39
= % 49
4 ® 59

Question Number : 148 Question Id : 7368155402 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

el & IS 9 F AT IS
29,92,49.94,.....96

Options:

1 « 69
> % 39
= % 49
4 % B9

Question Number : 149 Question Id : 7368155403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Find the missing term of the series.
101.398,901.1598. 9598

Options:
| % 2499

> o 2501
5 % 8801
4 % 8081

Question Number : 149 Question Id : 7368155403 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

el 2T 912 9¢ F AT e
101,398,901,1598,.......,9598

Options:

| % 2499
» & 2501
5 = 8801
, = 8081

Question Number : 150 Question Id : 7368155404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Find the missing term of the series.
0582.174.66,72.53, 2529

Options:
1 ® 43

o W 67
5 o 34
E 16

Question Number : 150 Question Id : 7368155404 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

7 & TE T I AT S
9582,174,66,72,53,.......,25,29

Options:

1 B 43

o B 67

= o 34

4 #® 1 G

General AwArerness

Section Id : 736815106
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 50
Number of Questions to be attempted: 50
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 736815160
Question Shuffling Allowed : Yes

Question Number : 151 Question Id : 7368155405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What does the Ashoka Chakra in the Indian National flag symbolize?

Options:
1 « Law

- u Prosperity

5 & Strength
' Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




4 % Peace

Question Number : 151 Question 1d : 7368155405 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

AT & TSET ea=7 & 30 =% [ohdeT g 87
Options:

;v @
o % TS
5w ST
4 ® onfer

Question Number : 152 Question Id : 7368155406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Approximately how much time was taken to prepare Indian Constitution?

Options:

, w Five years
-~ » Eight years
= % Ten Years
4  Three years

Question Number : 152 Question Id ;: 7368155406 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ST TAUTT T SO FIT H T8 ohdall THT &9 oT7?

Options:
1 % 9T J§
> # S 99
3 ® gH I
4 & AT a9

Question Number : 153 Question 1d : 7368155407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘What is the width-length ratio of Indian National Flag?

Options:
1 ® 26
> % 24
= o 213
% 25 Latest Sarkari Jobs, Govt Exam Results, m
4. = Vacancies and updates on one click




Question Number : 153 Question Id : 7368155407 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
SR % AT et B Ao F A e 87

Options:

1 % 26
> % 2:4
2 WP 203
4B Zh

Question Number : 154 Question Id : 7368155408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The fundamental duties of Indian Constitution are adopted from?

Options:
1+« Constitution of U.S.S.R

5 ® Constitution of Spain

z % Constitution of China

4 % Constitution of Germany

Question Number : 154 Question Id : 7368155408 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
SRATT AU F ®ifoe Faeal FF FET ¥ IS 4 27

Options:

v LUETHIAR. e

5 » TIF &7 @iy
- % O F Fiee=
4 ® Hﬁ?ﬂ'ﬁrﬁiﬂﬂ'

Question Number : 155 Question Id : 7368155409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which part of Indian Constitution contains fundamental rights?

Options:
1 & PartIII

- % Partl
= % PartIl
4 % PartIV

Latest Sarkari Jobs, Govt Exam Results, m
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Question Number : 155 Question Id : 7368155409 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TR Tlaua & g g 7 #ifte #twr Jeg 22

Options:

1« &
5 % ST |
= u &l
4 ® &IV

Question Number : 156 Question Id : 7368155410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
In which year Bharat Ratna Award was introduced?

Options:
. % 1966

5> « 1954
> % 1950
4 % 1940

Question Number : 156 Question Id : 7368155410 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
TS Teed [WEPR & 3R form aw & fram amar am?

Options:

% 1966

~ 1954
2 % 1950
. % 1940

Question Number : 157 Question Id : 7368155411 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The “Nobel Prize’ is given by which counfry?
Options:

1 « Sweden

- % United States of America

- » England

4 % Switzerland

Question Number : 157 Question 1d : 7368155411 Qu&enon Type MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ng_Or

Correct: 1 Wrong: 0.25 Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click



FieT W I AT TEHFR T €7
Options:

1. v 1D
T3 =T 31T
ol ® =

S_Wé‘?ﬁ?
4_%&331%?

Question Number : 158 Question Id : 7368155412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the first recipient of ‘Dada Saheb Phalke® award?

Options:
, » RajKapoor
> « Devika Rani

- u Prithviraj Kapoor

4 % Shivaji Ganeshan

Question Number : 158 Question Id : 7368155412 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
FITAH TTET Wed Flosr [WEFR 0 faar amr ar?

Options:

| % = &

gwmﬂ?ﬁ'
E_QI w
4 % TIETST IO

Question Number : 159 Question Id : 7368155413 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following is the highest military award?

Options:

, w Nargis Dutt Award
5 % Rajiv Gandhi Award
- % Dhronacharya Award
4.+ Param Vir Chakra

glrJ]SISeIOLr?nI\eIU&Jb&ZFi Or::- SSBPS(l)JneSt Latest Sarkari Jobs, Govt Exam Results, m play Question Number : Yes
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Correct : 1 Wrong: 0.25
fa==fafes & 7 #i7 a1 gafeg s [WER 82

Options:

b AR = TEFR
T el R

2_& 2

3_3@ ' 3

Question Number : 160 Question Id : 7368155414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which of the following award is given by ‘The Academy of Motion Picture Arts and
Sciences’?
Options:
1 « Oscar Award

> % Noble Prize

5 » Grammy Award

4 % DBooker Prize

Question Number : 160 Question Id : 7368155414 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

& ThEdt ATF AT 9=y 2y v gEas an AT 7 o S o
TFFR fear ST 82

Options:

L ¥ HTER ‘-I__’H-ﬁhli

, e TERR

2.

Slwaﬁﬁrw

4% Ech{ assehix

Question Number : 161 Question Id : 7368155415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Who is the author of the famous book ‘Glimpses of World History’?

Options:
1 % Sir Arthur Cotton

> % Mahatma Gandhi

= % Lord Mountbatter
Latest Sarkari Jobs, Govt Exam Results, m
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4 + Jawaharlal Nehru

Question Number : 161 Question Id : 7368155415 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Toarg 3% Io8 Bl ame 98 0+ & 9us Fid 22
Options:

1 % HU TR Fled

. w FETCAT Il
5 % oS A3

L, v AR T AgE

Question Number : 162 Question Id : 7368155416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The autobiography of Madame Curie was translated in Hindi by
Options:

1 +« Lal Bahadur Shastri

-~ % C.V.Raman
= % J.C.DBose
4 % Satyajit Ray

Question Number : 162 Question Id : 7368155416 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
fFrafafea 7 & s, #s7 a3 & srcaeyr & B # e & 27
Options:

mwﬂmﬁi’r

1. ¢

g4 'HF-EIT:rf'IHi'

Question Number : 163 Question Id : 7368155417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who is considered as the ‘Father of English Poetry’?
Options:

1 % Mark Twain

- % Shakespeare

z % William Wordswg
: Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




4 Geoffrey Chaucer

Question Number : 163 Question Id ;: 7368155417 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘HIAST FIeT T Nar &y AT 4T 82

Options:

L A T4
o % AFEAT
L x TETOIIH FEHTT
4 v ST THT

Question Number : 164 Question Id : 7368155418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The patriotic song ‘Sare jahan se accha’ was written by?
Options:
, w» Bhagat Singh

-  Muhammad Igbal

= % Subhashchandra Bose
, % Bankim Chandra Chatterjee

Question Number : 164 Question Id : 7368155418 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

et Mg ‘" FET ¥ =or Fua P arr

Options:
 w H9d EE

. » FATEFAC FhaTd
g, A

o ®

, » FRHF Teg TS

Question Number : 165 Question Id : 7368155419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The author of the world famous book ‘Das Kapital® 1s?

Options:
1 « Karl Marx

5 % Mao Tse Tunge

% Adolf Hitler Latest Sarkari Jobs, Govt Exam Results, m
5. Vacancies and updates on one click




4 % Idi Amin

Question Number : 165 Question Id : 7368155419 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
TH Fe AHF I8S Jrdeh F o@® Fid 27
Options:

4 Fﬂﬁ'm
T AT 7 T

. » USIeH fgear
4 % 3 oA

Question Number : 166 Question Id ;: 7368155420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
The traditional dance ‘Dandia’” is popular in?

Options:
, » Punjab
o>  Gujarat

=z % Uttar Pradesh

4 % Haryana

Question Number : 166 Question Id : 7368155420 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

SIFAT ATHF IRFINF o Fal W T8 87
Options:

| % ToE

o W 2

- % 3cal woHl
. » BT

Question Number : 167 Question Id : 7368155421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Mohiniattam’ is a dance originated from the State of?

Options:
, % Madhya Pradesh

- % Tamil Nadu

AT Latest Sarkari Jobs, Govt Exam Results, m
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4 % Maharashtra

Question Number : 167 Question Id : 7368155421 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AGAHZH THF Fcd FT 37H FhF T & g3m?
Options:

| % HET 9w

JHTATS

o R 2
5 @ BA
4 B “E[ {l §

Question Number : 168 Question Id : 7368155422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The development of Dance, Drama and Music in India is regulated by

Options:
1 « National Film Institute

- % National Film Chamber of Commerce
5 ® Sangeet Academy

4, % Jawahar Cultural Academy

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 168 Question Id : 7368155422 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

AT H Jc7, 3T T weg & fTww & s g Fafaa ke amar
g7

Options:

| v SRET frew dEuE

. o T2 forow v 3w
. % TN sbsar

, « AT WIEpTcis HFsAT

Note: For this question, discrepancy isfound in question/answer . Full Marksisbeing awarded to all candidates.

Question Number : 169 Question Id : 7368155423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The *Madhubani’ style of folk painting is originated in?

Options:

1 ¢ Bihar Latest Sarkari Jobs, Govt Exam Results, m
: Vacancies and updates on one click




> % West Bengal

= #® Goa
4 % Karnataka

Question Number : 169 Question Id : 7368155423 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
ok Forserrdy 1 el A T oed Far A gF A
Options:

1.~‘~:«’—“ﬁ_EﬂT
o % qf e =1
3 % INET
4 % FeAEH

Question Number : 170 Question Id : 7368155424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Bhagyanagar” is the old name of which of the following Indian cities?

Options:
1 % Mumbai

-~ % Patna
- » DBangalore
4  Hyderabad

Question Number : 170 Question Id : 7368155424 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

frrafof@a & @ ‘9 @9 5y AT 9@ &1 qUar J1H 82
Options:

1 % 3 :

o> % Yol

5 % ST
4.&"%31-@%7

Question Number : 171 Question Id : 7368155425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

Who among the following is considered as the first citizen and constitutional head of
India?

Options:
Pri inister Latest Sarkari Jobs, Govt Exam Results, m
1% 1me Minister Vacancies and updates on one click




- % Chief Justice
3 « President

4, % Chief Army Commander

Question Number : 171 Question Id : 7368155425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

ol & O 8, 9Rg &7 997 JFE I gaeunfas gu= J3&=7 Jar
g7

Options:
| % FEITTHAT

- HET FIramedrer
il ® o

o » TSgard

g HTHT FAET
4 ® 2

Question Number : 172 Question Id ;: 7368155426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
To become a member of Lok Sabha, the minimum age required is

Options:
, = 30 years

5 o 2D years
5 % 35 years
4 % 40 years

Question Number : 172 Question Id : 7368155426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

, % 30 IW
5w 25 ¥
- » 35 a¥
4 % 40 I¥

Question Number : 173 Question Id : 7368155427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Who among the followj ' Lty eairal 2 : ernments in
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Options:
1 % Reserve Bank of India

o  Comptroller and Auditor General
= % Planning Commission

, % National Development Council

Question Number : 173 Question Id : 7368155427 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 174 Question 1d : 7368155428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The first Indian woman who received Bharat Ratna Award is
Options:

1 + Indira Gandhi

- % Sarojini Naidu
- % Vijayalaxmi Pandit

4 % Shalkuntala Devi

Question Number : 174 Question Id : 7368155428 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 175 Question Id : 7368155429 Question T
Single Line Question Option : N

Correct : 1 Wrong: 0.25

isplay Question Number : Yes
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Who appoints the members of State Public Service Commission?
Options:
, w High Court Judge

> % President
z % Chief Minister
4 « Governor

Question Number : 175 Question Id : 7368155429 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 176 Question Id : 7368155430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Who is the present director of Bhabha Atomic Research Centre?

Options:
1« Mansoor Ali

- % Devendra Rajput
- % Kasturi Rangan

4 % Sekhar Basu

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 176 Question Id : 7368155430 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 177 Question Id : 7368155431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the present Chief Minister of Bihar?

Options:

1 % Shatrughan Sinha
> # Lalu Prasad Yadav
= « Nitish Kumar

4 % Jithan Ram Manjhi

Question Number : 177 Question Id ;: 7368155431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

. I e
., e SHIG AT

/8

2.
. o T FAR

4w Sde TH AT

Question Number : 178 Question 1d : 7368155432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
‘Who is the present Captain of Indian National Test Cricket Team?

Options:
1 « Virat Kohli

-~ % Mahendra Singh Dhoni

5 % Yuvraj Singh

4 % Suresh Raina

Question Number : 178 Question 1d : 7368155432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 179 Question Id : 7368155433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Where the Reserve Bank of India staff college is located?

Options:

1 % New Delhi
> « Chennai

- » Bangalore
4 % Kolkata

Question Number : 179 Question Id : 7368155433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 180 Question Id : 7368155434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
Which one of the following is biggest commercial Bank in India?

Options:
1 + State Bank of India

> % Axis Bank
=z % ICICI bank
4 % Oriental Bank of India

Question Number : 180 Question Id : 7368155434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 181 Question Id : 7368155435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which was the first private bank established in India?
Options:
. % VysyaBank

> « UTI bank
= % Canara Bank
4 % ICICI bank

Question Number : 181 Question Id : 7368155435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 182 Question Id : 7368155436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who among the following got Nobel Prize for studies on Economics?

Options:
| Amartya Sen

o % Manmohan Singh

z % Chidambaram

4 % Jaswanth Sinha

Question Number : 182 Question Id : 7368155436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 183 Question Id : 7368155437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

In terms of Economics GDP stands for?
Options:

1 % Great Demand Products

> % Gross Divisional Production
= « Gross Domestic Product

4 % Guaranteed Domestic Production

Question Number : 183 Question Id ;: 7368155437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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, « Fhel FHRENT 3cea (1H Bf=ae Ssre)

. T Te] 3c91E (IH SATECH Wisee)

s gafeaa oo 3 (g sAftes wiseee)

Question Number : 184 Question 1d : 7368155438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which one of the following regulates the capital market and protects the interest of
investors?
Options:
, « Securities and Exchange Board of India

> % Reserve Bank of India

- % National Development Council

, % Planning Commission

Question Number : 184 Question Id : 7368155438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 185 Question Id : 7368155439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The EXIM bank which was established to regulate exports and imports in India was
established in the year?

Options:
;. ®% 1999

> % 1954
s % 1964
4 « 1982

Question Number : 185 Question Id : 7368155439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1 % 1999
- % 1954
= % 1964
4 « 1982

Question Number : 186 Question Id : 7368155440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

The total number of Union territories in India is
Options:

1. 7

o % 5

=3 % 9

4 % 6

Question Number : 186 Question Id : 7368155440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 187 Question Id : 7368155441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The Indian State where the Sun rises first is
Options:

, » Nagaland

> % Punjab

5 % Manipur

4 + Arunachal Pradesh

Question Number : 187 Question Id : 7368155441 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Options:
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Question Number : 188 Question Id : 7368155442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25

Which Indian city is known as ‘Rose Pink City*?
Options:

|« Japur

» % Bhopal

- » DBangalore

4 % Nagpur

Question Number : 188 Question Id : 7368155442 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 189 Question Id : 7368155443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The capital city of the Nagaland 1s?

Options:

, = Gangtok

> « Kohima

5 % Itanagar

, % Imphal

Question Number : 189 Question Id : 7368155443 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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4 % ¥

Question Number : 190 Question Id : 7368155444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
On which river the Bhakra Nangal project is constructed?

Options:

1« Sutlej

- % Kaveri
5 » Ganga

4 % Yamuna

Question Number : 190 Question Id : 7368155444 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
1_ﬁ?m

E_Wm

3. % 9
Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




TJHAT
4 ® <

Question Number : 191 Question Id : 7368155445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The Indus valley civilization is also known as?

Options:

, « Harappan Civilization

> # Hind Civilization

= % Dravidan Civilization

4 % Malvnakar Civilization

Question Number : 191 Question Id : 7368155445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 192 Question Id : 7368155446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who is the founder of Chola Kingdom?

Options:
1 % Simha Vishnu

> % Krishnadeva Raya
5  Vijayalaya

4 % Vishnu Sharma

Question Number : 192 Question Id : 7368155446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
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Question Number : 193 Question Id : 7368155447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

The *Taj Mahal® was built on the banks of which river?
Options:

1 % Kaveri

> # Sutle]

5 % Ganga

4 + Yamuna

Question Number : 193 Question Id : 7368155447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

1_%%%

2_%2‘4??4’3’

gw?l?'lT

dow o

Question Number : 194 Question Id : 7368155448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Who founded the Indian National Congress?

Options:
1 # Jawaharlal Nehru

> % Mahatma Gandhi
=z « A.O.Hume

, » Dadabhai Naoroji

Question Number : 194 Question Id : 7368155448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 195 Question Id ;: 7368155449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
is the slogan given by Mahatma Gandhi for Quit India Movement.

Options:

, » Purna Swaraj
> « Do or Die

% % Jai Hind

4 % Swaraj is our birth right

Question Number : 195 Question Id : 7368155449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:

Question Number : 196 Question Id : 7368155450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
Which Indian sports woman is known as the ‘Payyoli Express’?

Options:
1 % Sania Mirza
- % Saina Nehwal

3 « P.T.Usha

4, % Mithali Raj

Question Number : 196 Question Id : 7368155450 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 197 Question Id : 7368155451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

‘Which Indian cricketer is known as ‘The Wall’?
Options:

1 % Sachin Tendulkar

> « Rahul Dravid
- w Virender Sehwag
4 % Yuvraj Singh

Question Number : 197 Question Id : 7368155451 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25

e g e e & 7 e (EER) Fea 22
Options:

AT degelan

1 %

EJT@HE«’%E
. % dNg Heanr

4 ® 2 ﬁﬁg

Question Number : 198 Question Id : 7368155452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
How many times did Viswanathan Anand won the World Chess Championship?

Options:
1 « 3 times

- % 10 times
3 % 8 times

4 % 12 times

Question Number : 198 Question Id : 7368155452 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Question Number : 199 Question Id : 7368155453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
‘Mother Teresa” is native of which of the following country?

Options:
1 Yugoslavia

> % United Kingdom

5 x laly

4 ® Spain

Question Number : 199 Question Id : 7368155453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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Options:
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Question Number : 200 Question Id : 7368155454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0.25
The slogan ‘Jai Hind’ was introduced by?

Options:

, » Bhagat Singh

> « Subhash Chandra Bose
= % Mahatma Gandhi

, % JaiPrakash Narayan

Question Number : 200 Question Id : 7368155454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0.25
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